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Analysis of Posting Behavior to Net News

Yuzo Seo
Graduate School of Systems Management
University of Tsukuba, Tokyo
3-29-1 Otsuka, Bunkyo-ku, Tokyo, Japan

Abstract

In recent years, person-to-person communications through computer networks have
been spreading over various social fields. The characteristics of computer networks as
communication media are different from traditional communication media, so it is sup-
posed that societies formed on computer networks have different phenomena. Furthermore
as all informations carried by computer networks are digital, it is easy to obtain an ample
quantity of data about societies on computer network.

This thesis presents an analytical method of article posting behaviors in news groups
which are supposed to represent communication activities in societies on computer net-
work. Network news groups are selected as objects of analysis for communication behavior.
We extract data of posting times and reference relationships between articles from net
news articles collected from several newsgroups for some periods and try to obtain typical
parameter describing article posting behavior.

It is concluded that the number of followers for each article can be modeled by Poisson
distribution with different parameters depending on values of new articles and the char-
acters of newsgroups. Furthermore, the distribution of the intervals that posters check
the newsgroup can be estimated by delay of followers posting.

The time series of articles numbers posted to a newsgroup is assumed as branching
process and can be estimated by the parameters of the newsgroup. In this article, the

methods for this purpose are also treated.
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Ay PEa2—RCEFRENIEERL. TABSFTHOEELRET 28FTH 5 mhoit
BT 27 v —OEBETH202MbT, 74 —0OXREADVEZ, 22T, £TO
ALHDZ 2 ZAL— T BH TV —%EZ, TR TocCEosT=2—2 7
N — T EROEBEEHALMICT S C & 2RA DB

2.2. 7xO0—0¥
2.2..1 FEH7Fo0—¥0LE

RLELAFEND &, TRICH LTI 5 v — BRI N I AMREER D 5, 75 v—
BTN 3 D ELEMEEN AR TH Y, TRETNOEBICTLTAINSE 74 r—DH
K @GovXonfEihd, —20BCHLTAINE 75 v—08 K OFEEE ux-
—H® 7Y DEEBROBEREDOFEE A, FHOLBORBROFEE N 235 &,

A=N+/,LKA

N

%%, TCTT, 0L ug <1 TRGIEARDLT, T LOBEREERLRET 5, Ll
To@EmcBnTE, 0< ux <1 DBEECOWCIRTRHED 5,

2.2..2 EENAZLWWMHEZEOES

ZNEZNOFREHBICH L TERFMIND 7 5 v —FHOH K OHfffEnEToiiET—%
Ep 222 RET DL, SLBEEL D (BRATELEINIHD) ¥4 oL
N3O, 75— OFEREMILORATLEELLON. FEO 7y v —HEL BN
RIEET Y vIfTcHEiL b, IRRCRTEER & 5,

k

A W A 2.1
X

2.2.3 EEOHEHINELDZES
ZHIRFHICH LT p BREL, HE VFEIRET AR A VLS AftHEcs L ik p @b
TV L 3bnetELLbID,
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P DREIHFHEBICI->TEADC L2 ERCRRIEE 20D, 5LHDO 7 4+ v —KoOM
%@ﬂ@p%&éﬁgﬁﬁw@)%ﬁ%TéoC@%xﬁgﬁk®7iﬂ—iﬁﬁéﬁ$
PI‘(K = k) Pi‘///'\’iu"@—’ii bnéo

K

IwK=m=Am()%amp (2.2)

w(p) DHFRFRETS 3 45, Fix OFTTEROETERTE 3 T 534

a
0 a—1_-—6p

Mm=rm¢ e (2.3)

eSS LRET Bo COHE, MOBNTO X 5 KEEEn 35,

= o oa—1 —Gppk -p
o T(@? ¢ m°
00’

a)k!

Pr(K = k)

pa+k—le—(1+0)pdp

T(a)k!

[(e+ ) e
O ———20*(1 + §) >k
I'a+k), 6 1

T@H 140 140
HIB, Pr(K =Fk) RRADTEIME 2D, K O g 2598 ok BIKRTE4 b5,

(

(2.4)

—_
0_2 (92 )

ChORBAE?GHHAINZOT, KAKE Y, o BV IR UEFTBC L H8TE S,

KK
AR — 2.5
aign (2:5)
2
Kr
QO = — 2.6
A—— (2.6)

B, LR TEHEEAEHINS L W IRHEDO b Lok, T S o5E:s HE#E
BLT, 0<a<l &R Y o,

i THEoRE, St = (a+k-1)(a+k-2)(a+1)(a) CXoTHEE N2,
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2.3. SRBIEICL B

TALEDOEMH OB HCLETO 7 4 e —RATNBE DD ELRET S L, Xy h==2—2x
~OEFEOMER BALES HELEBOME L RikF c 2 #T% 3,

HtOBEREZ A &L, FELECHLT, Bit+1 HC D7 3 u—niiTh b s
EF %0 t+1 Hic FHROBEMD Ny B2 ENB FhiE, B t+1 OBFER Ay, @
KX TEHE2 bR %, )

Ay = ifj + Ney (2.7)

g=1
A OB Ay (2) & 24 OFIFFECE L b, RO XS KEEENS, T P(2)
F7 52 —EOHMD. Nga(2) BH t+ 1 € B0 25 BEOREIERCH 3,

Aii(z) =

=[]
= [z J= 15]] N‘+1

(E[: Jls],At_k]Pr( BIE []
- h}w )}ePr(A kﬂEPMﬂ
= A{P(2)}Nepa(2) (2.8)
ko, BRROERMERS ORI Al) RIKRCE L bh 5.
A(z) = A(P(2))N(2) (2.9)
A(z) D—RB LV ROEERBZIRD X 5 KEEIn3,

A(z) = A(P())P'(z)N(z) + A(P(2))N'(z)
A'(z) = A"PENP'(2)PN(z) + A(P(2))P"(2)N(z) +
2A'(’P(z))’P'(z)/\/’(z) -+ A(P(z))/\f”(z) (2.10)
FHEBDERRA AT ¥ v A1 TEICHF B 7 5 7 — OS5 E D =TI
5 253 &y TREROREREE E 2 0—kE L FKOBRERECE b E .
N(z) = e""\(.l_z)_
N'(z) = Xe 202
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,M"(Z) . /\28—/\(1—2)

P@)::<1+g—z)a
Pl u+:T@H4
RUe) = dﬁ%t?ﬁ;

ChoDz2=1KBT2HEZIRDLSCARD,

M@=l

NEDEZ <)

N(1) = A2

P(1) = 1

P(1) = %

T ﬂ%gﬁl

ChoZHWT 2=1BT2 A 0EEROE2HET 3 LLUToL5 k2,

O
0 — «

ala+1)0A 622
(6-a)0+a)  (@—ay

ChbDfEZRYhE, BREDOEEMERIGOFHE pa BXUEZONE 0% RO X5
KEHE XN 5,

A1) =

.A”(l) oA

pa = A1)
®% M
0 —«
oq = A1)+ A1) - {41}
ON(0% + a) ;
(0 —)2(0 + a) | (2:11)

2.4. 7H#O0—0DEN

HIEIClE 74 v — 3t EORBOZTHICAINBE DD LIRE LR, EBDO 7 42—
ALBOBMOTTIBEORMICH T 2 B 3D M 20, REREOKRZEILCE. 74 2—0
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ENOGHBGET B 5. KaXICB T 3 HRROHERSHOHER, HEEO X v b
Z2—RCBVWTHEI N, 74 v—2BN d 2 FFOBXREE Q(d) 2AVTiTA - %o

74 2 —DOEFENBREETIEREL LT, BIEOR Y P=2—RCKHT 5T 7 & X504
RETHDC L, Fv VT =7 NTOERIGEN LD B T &, 7 4 v —3RHOVER ICF
FEFTRCLAEREDTONDE, 2 TR, —2ODREHE LT, 74 2 —BFEZENA Y b
Z2—RRT 7 RFT SEREET 4 v —DENERET S LIRELTH S, HEFHERT &
E—%TAhFS5LT2LE,BIECRY F=2—RRLT 7 %R LARECHEET 2L THOI
BRFHABTONTEY, 740 —DONR L AR BFEHED dnax BRI DBHECEZFHETH
2LEx2%, b, 740—DF xy 7R dpax HTHE2 %, 0 HD D dpay HET
DENPEL S EEZX S, COXIARFHRO T TR, F=v 7EROSHEENOHH LY
HEET B2 LBFRETH Do HIB, BMADEN HE dinax DEEEE% Pldmax) &7 5 &4
Fxy 7[EFEDS dmax THEFEEHEGREED dpax + 1 D 0723 FTH B, 72y Fxv 7
[EI5 dimax (FEBN 0 22D dpax PETICHF LT Pdmay) ZUOHELGT 20T, BRLOSH 1D
CNZEELTI o Bo BN DOTFMIE, BRDENHEHBE S TD dpax — 1 THZ DT,
FIRROFRE 2RV BTl Ic X VF =y JERRODHERD D C L TE B,

¥, BMICT 5 v —OBRREH LTILRORM H 2 DB ERD 3 LiER 0 2fhoiEn
HE e RAZ5HESZEI N2 L wIEREL 5. Chid. B 0 ZTTHEHEE 7 4 v —23H
—DHMNTHZC L 2ERT 22, 75 u—% TR 5REACE - TETORERERINT
Wb TREL, 74— X VRCEESRBRINIMHERE 1/2 LELLNRZLOTH
5, HCERD LABLODM»bROZEDTELF = v 7EROSHIZ, AL, HT
KaEh7ebDTHD%H, LOFHETRELF =y 7FERE 0 OEEIR. F= v Z7[ERRO
b 24 HEDO b DEFD, Ll BRLOSHICE LD X 5 RRHERD 3 2o, Aii
DT E T HMICAEBICGERA L 20Tl o X5 ABRAELN AV, T, #HiE
L7 HIEMEICS LCRIRCOFReE 2fTAaS ceick W F = v 7RERERD 3, MEDOTht &
Fd o & bEMATIEIC K o7co B 0 ICEENFRER 0 20 24 B0 7 » u— %807
Wi, Bh 0 LBHSh DR CORDESFTH D, B kB 1 LBHEIEN S, 24 i
DHDZ7 v —THoTh, TILBOEFL ) bRWRLIC 7 + v —2fThbh 55511 %
NWEFEHO7 4y w—Chd, LoT B 1 OFED 1/2 %:8h 0 KB L. TR,
B d+1 OFED 1/2 2Eh d KBRIER W,
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Kim LT BRBEOHER 7 + v —DBWORHHRE S L THA N, F= v 7 EE
DIMRT —FDHHICE EDTeds, F=yv 7BBODFERFHOR Y b= 2 — 2T 3
T 7 e AEROS LR E X b, HEOTIERO—ERZFRLD 255,

2.5. MERIHIZLBIERBREOHT

Hi23. TR 74 v —0BhE—EL L<Ro7%H, CCTRT # 1 — DB DR LY
MTEINDIGBELDNTEZ S, 74+ v—3EE dOEBLY D >TH SN BMEREE
Q(d) 3 3LE, FEDHBREGHEED 7+ v—BHBES, d BEIC | [HDIRE ey

MENBMER P y(i) k. RRTHELbIB, 22Ty Qd)=1-Q(d) TH 3,
Pati = (1 atyaar-

—DOFHC kO 7 x v N BHERE P(k) &5, —ooHECH LT d H
BiC i D7 5 B — 23 ENBHER Py()) RIKRTEL bR

P =3 (})awrar-et

) = 35 (Yoo rw

= P{Dy(z)} (2:12)

€T Dy(z) = Q(d) +2Q(d) B HER Q(d) DA XA ZTREOHEREHTH 3,
BN ¢ & D d ROBEORBREE At — d)y T ORERERE A_o(z) 55 &,
CHEFICHT B t KB D7 5 v —DROMRRER T, .(2) KRR CEL b B,

Tra(z) = 3. [P{Da(2)}]" Pr{A(t - d) = n}

n=0

= Ai_a[P{Du()}]
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%ﬁtmkﬁé7iu—@\@f@ét@&ﬁmﬂ?67fu—®ﬁfbékb\%@%%
B Z(2) BIRD X 5 itk %,

It(z) = ]i[ It,d(:)
:=§AHWWWW

RNFEOREER T + v —HARET 5 L EXD & 2 ORI I(2) BRR A 5,
I(z) = [T A[P{Da()}]
d=0
SRR FHOBMWR N & 74 v —0BRBROMTELbNE 2. LORBKD X
S5IERIND,

= [V [P{Ds(= N T [P{Da(=))

d=0

FROBRRIE, FE N ORT Y vBHCHS b0 LFEL. ZRERDOIECHT 3
7AR—OEHE AT A—F% o BIUO LT ERDOTIEDGCHS LRET D E. #
NENOHERBEBBZRDO LS5 K52 b3,

N = e
P Eelae=s)

P{Da(z)} = {a_a—_am}a

D EIEDAIRAT S 2 REHB 5,

I(z) = dlj)eXP {—/\*— {14_9;'01)7:—)} }I[{ﬁp‘_ep_d()}a}
=emP{§ﬂ—P }ﬁrmpd (2.13)

b (B )

Ty —REFZROFERBZKRD L 51k B,
ﬂd=:ﬂﬂiPﬂMwm@P+§g%%?H

)
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I(z) ij: P"(Da(2))Q(d)* | X +

I(z>§P'(m@))@(d)fl(“”){P(Dd(z” P'(Dy(2))QAI{P(Du(2))}

d
o o I{P(Dy(2))}*P'(D4(2))Q(d)
I(z P(Dy(=z d .
z2=1KEBIZEEBIBZRD LS5 CEHEx NS,
, A
FEE= Gia
niy o PN+ afMa+1)(0 — ) T2, Q(d)? — oA TR, Q(d)? g
T = 0= 52, Q)0 — o) (213)
CNED. 74 v —BREERDOFE ur IS o GETE A2,
pro= I'(1)
- MRaEx
T 0 —qa
of = I'"()+I'(1) - {T'(1)}*
B abA(a+1)T2,Q(d)? al
RGN0 bl (A R s (216)
Eiey EEMBOVYE py B IUSE o) REFO L5 3 Exn 3,
pa = pr+A
o
B
o3 =gl
_ O Ma Y2, Q(d)? + 6} (2.17)

(02 — a2 32, Q(d)?) (0 — )
(2.17) X% 2.3. 887 (211) XEH#T 3 &, FHEIFA—0RCEL b, 58
X0 Q(d)’ B 1 0L ERFORBA—E K30 T2 Q(d)? DIEINE S %25 &8I
ETL. X320 Q(d)? 25 0 1IN I - THHME 2 itk <o
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3. EF—FOEHN

3.1. EFIZAVWET—4

T, HERCARE W 2Ry b =2—X "fj’ OD=a—X7A—7Lk b, "fj.jokes”
71j.jokes.d” "fj.sys.mac” B XU "fj.sys.ibmpc” D 4 S — 7 HBIE, 190 H 25 300
HFE D7 — % WHRIRNICEE L 2 T X CORBRMNONR L Lico %7, 50 HED
7 — Z PEHIRIC. "fj.books”, "fj.soc.media”, "fj.misc”, ”fj.rec.games.video.home.su-
perfamicom”, ”fj.news.usage” ¥ X Uf "fj.soc.men-women” ICHFE X NAZHEICO T B

TR FT72 - 7eo
H= a2 — RN — T OURERDOE Y [12]o

fj.jokes : Ya— kBT 2 DD —RIA—FTH Y, 75 2 —(i.
£, Y 2 — 7 OBEM AuF 4 —TH 3,

fi.jokes.d : fj.jokes ICBF BRAICH . B2 LCHROIEHICA 5.

fj.sys.mac : Machintosh ICBHF3Ef e, ZhICHT 2ERADLE R >Tn
%o

fj.sys.ibmpc : IBM-PC & 2 0 EHEICEIF 2B/ & 2 D& AHD,

fi.books : AICEI 325mE

fj.soc.media : <=2 A5 1 7B+ 2358

fj.misc : D7 Ar—FICBEI WA WEEE

fj.rec.games.video.home.superfamicom : 77 3 J — =¥ ¥ = — % IcfilF
%55

fj.news.usage : Fv F=z2—XDFWHICET 2HR

fj.soc.men-women : BLEROH b HicEH+ 23EE

TR E =2 —RR T A CHET 2RETOREL EHINICERE L. SEEMTIRC BEbh

5 BRHORECRCGEHEERN Lo 20X 5 AFTHE, =2 —XFEEZD P57 Tk

FICEYRERERELEL 2D D L Ebh3, €5 LTEbRA—Eoiisns, Hic, &

B b T HEICRREE WiiE L, KB D 7 HECEBINATELRN L ee C .
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FEFREROFILIERSMIC R TOR WEARRT C &, P TOEHCEL TR 7 +
R —FLHBRKBEIN T AWAEEER D B C & hLITEN L Lk, TREFRD=2—2x
I N— T BT LRI & BRFERO BMSEIREE L )WRT, HREET 199541 A 1
H2bORBHBTH %,

Sa2—RTAN—TIREREINRREO—H B 7 ) ORFEREOEHZLoREF & L,
Za—R7A—7 fjjokes KERMINFHEO—H B h DEFHBIORBEZEL % 41CT
Fo D=2 =27 =TT BEMBEOHERE L AppendixA WKWRLZ, CoOKICE N
T Lo e EBBEREOHE L, THloMNERFHEEORBEREOHE * T,
7 # v —DOEWMEROHE R Th b ZO0HFIEEORIDIBTIHAIS C & 25T %,

COREPDZ &\ 2 v F =2 —R AT 2RMWITEN D, Fx ORMSHEEND, &
REORERZIR, =2 —R71—TZNTh T, BLOEERE LIS, fjjokess fj.sys.
mac, fj.sys.ibmpc OERERLEHNEE L THET 201Kkt Ly fjjokes.d DBFERER
RETH Do 77— F2HIED R A, fjsoc.mediay fj.misc, fj.news.usage, fj.soc.men-wo-
men ORMEDFEREORLZELE2RT. COXSAREVE, 2D/ A—F T ba 3 o
2= —=vavDHNHE, EELT, ERORETH 200, BiE 2hiCKT 35K
THLE0 TN L DIREDTERICTT 2HRTH OB E ok =2 —R 71— F Dl
EERBLTRE b0 EELbIRDo

B T AF T 20 A ANEB AR TH 5, BHRR T, 7rw—2 7
HEICRE AFE DAL ETRT o ChiL, BFEEZRLHBE b ECERBLTVw3 e ic
X3 LEbh3,

/44

3.2. T7A0—KDLHETHHEANDHTEH

7 & v —DEDH%E . FLEDORI 0% T O & E L cBHE (A0 IHME) &\
FERELWHEERZRO LRE LGS (KT Y vHf) KowT, EHE & L 2 fEE
TN BRI AT DT 5, 6, M7 BXURKEKCFET. £/ ZHEHDSL
LR L DED x? K2 IKRTo wFhOD =2 —XZL—7BNTH, BOIEHSS
HFPEIC R —F Lico ThiEs ZFREFND =2 — R 7 A — T ICEFEX N L HAEE
TRELS FIFENBE 7 4 v —HBLWGEE L, 7 5 v —ROBEHERD B WIOBERRLE L
TWaiERTH B LEL OIS,
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LB . FE: A8

News Group fERT | BBIEERE | 74 v — | DEFER
W] | B | B
fj.jokes 1255 |a12.44 14.76 27.20
349 44.09 69.86 184.70
fj.jokes.d 60 - o 4.48 7.65
349 6.44 21.40 36.71
fj.sys.mac 165 - 16.45 35.83 52.28
349 81.59 406.89 T42:75
fj.sys.ibmpc 170 - 5.19 12.53 17.72
349 11.91 104.64 159.59
fj.books 312 - 3.92 4.21 8.13
349 13.65 14.47 33.39
fj.soc.media 317 - 1.00 1.85 2.85
‘ 348 1.43 7.00 9.74
fj.misc 311 - 3.02 7.49 10.51
347 13.63 57.74 103.35
fj.rec.games.video. | 311 - 9.36 24.26 33.62
home.superfamicom | 349 43.70 275.18 470.39
fj.news.usage 309 - 4.75 19.64 24.38
349 19.61 115.61 149.91
fj.soc.men-women | 312 - 243 9.29 11.42
349 3.27 63.55 79.78

£ 1 £= 2 — 27— 7 OIS & CERER
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articles / day

1 1 1 1 1 1 1 1 1 1 L 1

1 1 1
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0
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date (1995)
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n
o

Y
a
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—_
o
T
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1
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R

ik
o

H\\\

,‘\g

1 1 1 1 1 !

(4]

1 1 1 ! 1 1 1
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date (1995)

4: fj.jokes OEFHEDORRZL
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News Group

= (N0 i)

KT V53

fj.jokes 71.45882 1741331.
fj.jokes.d 18.22308 29.99323
fj.sys.mac 100.8470 10833.04

fj.sys.ibmpc 28.43801 175.0489
fj.books 1.581982 49.77701
fj.soc.media 0.214185 0.551044
fj.misc 20.39672 97.40214
porecgames e | 3830377 | 43.95693
fj.news.usage 7.629145 85.84748
fj.soc.men- women 12.74988 68.70616

£ 2 HHHHRC L2 OFEw

08 —

07 —

o o o
S [ =)
T T I

probability density

o
w
I

01—

—: observed

-5~ negative binominal
-%-: Poisson distribution

oolL
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number of follows

51 7 x4 v — Do D (fj.jokes)
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08 —

0.7 —

0.6 [— ——: observed
-8-: negative binominal

-X-: Poisson distribution

bod
o
I

probability density
2
I

o
©w
I

02—

01—

001
0 1 2 3 4 5 6 7

number of follows

6: 74 v —D57DHE (fj.jokes.d)

08 —
0.7 -
06— —: observed
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> -%-: Poisson distribution
Fos
o
3
z
=04
q
E
- %

O
(2]

02

0.1

0.0

3
number of follows

70 72— D50 (fj.sys.mac)
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o
7

o
~
I

o
)
I

—: observed

-8~ negative binominal
-~ Poisson distribution

i
X

probability density
o <
T

02—

0.1 —

001
0 1 2 3 4 5 s 7

number of follows

8: 7 4 v —D53F O H#E (fj.sys.ibmpc)

3.3. EEEDORIOSH

74 R —BOBHBAOEIHFCHEIND L&, ThENORED 7 + v —OHEHE
A—RRTH T GRS bDeELOND, [ DfD~7 21—, flb, (2.3) Ko
aBIUO %, 25)XBLU (26)REoTy ENFRD=2—ZR 7 A —T BT L 7 4
R —DHDNFLE L S OHEE Lico FNENOMEREI IC, ThEHLIEXNZ, 31
BICHRFINZ 7 r u—Roofiz M9 XU 10 KR

a0 B7 3 v —BDOFHTH %, ¥y o ROFMEOTRERDE NS A—2CH
Dy a=1THEESHLAY, ChEUTOBER 0 Kl > TARICHAT 3, o 25 1
BlLEDGE BHEREREIRAME LS. o OMIMICIEL CEEEICEL . »O&EEA & —
7EFDo Xy b=a2a—RLBNT, BECHFINE 7 4 0 —ROMEREABELY — 7 %
FOLE, ZD=2—RIA—T R 7+ v —DXNGXBBIELEL v, HEL LS toR
HBEZ N %IRRT BT, a 231 UTOHEE, 75 v — OB X N wIE R85
HETB2—HT, PRORRBERERD 7 v v —%BO B LT 2, CHLDT
EHDy Al =2 —RIAN—TORBOGEWE T T NI AR EELBCENTE D,
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News Group a 0 afl

fj.jokes 1.067 | 1.948 | 0.548
fj.jokes.d 2.270 | 3.902 | 0.5382
fj.sys.mac 1.153 | 1.672 | 0.690
fj.sys.ibmpc 1.670 | 2.330 | 0.716
fj.books 0.567 | 0.996 | 0.569
fj.soc.media 2.81111 3.634 | 0.774

fj.misc 0.560 | 0.789 | 0.709

tj.rec.games.video. |,
home.superfamicom 2.001 ] 2.625 | 0.762

fj.news.usage 1.658 | 2.021 | 0.820

fj.soc.men- women | 1.539 | 1.867 | 0.824

X 3 ILBEOBEDPHAT A— X

1.26
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e
~
a
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fj.rec.games home superfamicom

f.news usage

probability density
o
o
o

0.25

| |
0.00 050 1.00 150 200 250

Number of follows

4 10: FEEOME D5 (2D 2)

a 232 P EOBEEER L= 2—X 74— (%, fisocmedia, fjjokes.d\ fj.rec.ga-
mes.video home.superfamicom @ 3 FA—7THB, ChbEEhEh, 22 i=F—
va VEIfR =2 — X7 —7 fjjokes ICEFE NAREICEIRT 385H. LRERORFE
AV —s=yvv [2=—nR—77iav] BRZ2HR I =2—271—7ThH Y, ZHEOHEM
HiET® Y SIEOHER. B0 b LR HICEE T3 e ZLbhb, $ch
KRS a L5 ED=2 -2 7 =7, Ry b= 2—XOFFEZE S fj.news.usage,
IBM-PC BHfROFEHE 2T % fj.sys.ibmpe, BLBEIE%#/ 5 fj.soc.men-women @ 3 7
A—=T7TH Y, FLEOHEENE T L EIER R,

—7s a B 1 HTOFFIEANMERRLz=2— 27— 7, fj.misc & fj.books T
Bbo CHOEFEECHEDEL  BLDREARZ I EIEABNEIBMT 2 L hb, I
HORGEERIFECE Roc b D e EbN b, Fv b=z — X FEBEESCSHEI
Tn3H, TRLTDOD=22—R7A—7 R OETTHEEDBIRER, chbD=2—
RIN=7G ] RREBOHEARMRIEb W =2 —X 74 —7TH D, ZONMICE &

S RLRTE ) CRYZCLcEHI NS,
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Eo BB END &y ChERSF A= 2 —R7A—THVER S h. BIRT 258
BHLn=a2—R7 V=T BEINE, ELC. G 2bdIPE3=x—r1r—TICiE, ¥ &
Y OHAHSAFTESLRINDI LA S, COMR. =2 — X7 — 7 DIHED G
FEWEZRTDIDOLEL LD,

= a2 —R7N—7 fjjokes & fisys.mac D o DERZ TROLDFED, 1 X HBHEn
fEZ/RL7co fj.jokes RTIRKEHRFET 2HTH V. BRESEHAERTHNRE 7 4 2 —D ik
Bid7mve LA L HEOEKMRAFER L ERICIIE, BLTE¥AYa—2 17 &
R—BRENTVE LI THY, 74 v —KOMFFHEISERSHICT - & v 5 TSR,
ZHOZT R R L DBOZT SVERBEEL TR D L WS BRE KM LA D & Ebh
%o fjjokes B fj ETDHV=2 -2 71 —7TH 3 ICHEb LT, fj.misc ® fi.books &
RBEZY. 1HUEDE a #/RLice COXS AENRELAFERE LT, joke &\ 5 430
B—EDELEYEFoTVE L, BOABNE (BE) OFEAEREL bR S,

W | o | 0 | /e
165 to 225 | 1.665 | 2.342 | 0.711
226052565 1 401" - 1294218 0. 5721
257 to 287 0.561 | 0.859 | 0.653
288 to 318 | 1.399 | 2.129 | 0.657
319 to 349 | 1.235 | 1.766 | 0.699

§4ﬂmwmm®%§®ﬁé®ﬂfj—ﬂ®§k

fj.sys.mac i% fj.sys.ibmpc L IZIERSOUREHO=2—X 71— 7 TH D, fj.sys.ibm-
pc ERROHEHZIFODDLEEZ LN B R, DMOBR, o 12 1 KENEWERFL
7co CORRZRNS 2D, HBHEY 5 KEWCHESHALCT T 9HONT A—2 %KD
o ZORERY RAWRTESIC, alds BEAYORETLS KEWERRLAD DD,
Hif] 257-287 (9/14 - 10/14) ICBWT 0.561 &\ S BD TIENER R Lo T OEEPES
7D CDOHRICERENFEONREFE LA L T A, 9/23 BRI NANBICHEE S
Mac & Windows95 DIEFIHAKEAY I — 2R LTI C e RBEwH XA, Ch
LEFDOY ) —TBBRFRLEBEDOIED. 20BN O EEEINTRE, Cok 5 Ak
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R0y fj.sys.mac (Z#FE fj.sys.ibmpe & RSO EM R34, Mac & Windows95
EOHBE VS| 22—~ TREOFE L BB BICT 20 ERARICEE I 7
Dy =a2a—=RI7N—TORREBEOEHEW RN DD EEL LIS,

S22 RTN—=T BT BRBOHEEG, BNHEC) L X0 r wEREP 55, B0
EFELOBERZHMIVDRED S L E2 N B, o DETEELT. Chd—EnL~a
CHERFS 2 C 2 3 BB OMREOE EBLHOR =2 — 2 F L — T %D 5 Lo
T®55, —HT HEMRERT 2550, BEATLEOMEE, SREE L5ttty
=2 —2ORREEHEET DHRED%S 50 {j.sys.mac TfFh bz Mac & Windows95
DHBFELREOREY 123D DR, 0S OHBER TR 5 ADOHEAD= 2 — XV A — F 51
L5 L nSEMAIEC 070 TR, REOHEMEDIF T2 — X VA — 7 ICHh 2 55
DEERD LS5 LIRS L LCIHETE X525, BECEHENZERT 24 ) B sk
BRLTLES L ORBRRD EEETRETH B, COX S AU LT, <5 A—2%
o T—D0HBEL L5 SEEN TA k=2 —R 71—k, ff D=2—2 71—
TORD—WD =2 =X 7V —7TH Y, COMBEEBIC ) SEKOTHBICEENG 3 ©
&dﬁ@ﬂ%%ﬁﬁ\a@@%m\EE@%%ﬁﬁbéhézz—sz—fﬁéé—ﬁ
Ty o [HEOEN, B MEAFEEEYRNT 2505525 L wIHER, % v b==2— 2 DH
ﬁﬁmkﬁéﬁﬁaﬁ%«ﬁﬁf@%ﬁamé:o@%ﬁmﬁ@:l—xfw—fﬁﬁm
AICFERTHDBE N T EHTE LS,

3.4. 7H+xO0—MNEN

REChb o TF — AR TR o2 4 DD =2 —Z TN — T fj.jokes, fj.jokes.d+
fj.sys.mac 3 LU fjsys.ibmpe IKDWT, 7 4 v —DBROD Db F = v 7 EROLSTE %
ROTco fEREM 1L K12, M 13 BXUMI4ICTHET. F= v 7 EROEER 0 His b
Ul HCROEL REEOZBAy b 22— RBHT 7 2 A LTWE C L %R LT
Voo TNEULEDF =y 7EETRY 2-3 HECTHEEDOIUSELE T WS T &, 7 HA
BICIUB R N 2 A & ORGSR E b B,

TSEOBHHRER DIX, o BOHKE LT, 2 BLERKHON - AR ENEEI D=2 — 2 S L— 70,
R EMBTEOA YD #ngs, 1.5 BiEBEARMCIREDRT 25 b A WA, FETREFER O 7 3 DR HIRY
BHICTabNEE, 05T ETTRL L, BHEOMM Ly TEEVCRIZEE VAE5CH D,
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12: Z 4 v —DBh e F = v 7 [EFE (fj.jokes.d)
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o
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13: 7+ u—DE & F = v 7[ERE (fj.sys.mac)
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3.5. HREOFEHEHFHE

EF—ZOBTIC IV E=a—R A —T I LTHELNAERTA—E%ES K, Th
PHATEREDOF Loz (2.11) R L8 (2.17) XTROTHEHE & KB L iR %
£ 6 IRT

RIAE % SEHIE & i3 % & BREOTFEEGEEBENE —BT 300, SirE
HfEC X THAED/NE v, CORERE LT, AREHC Ly PR Y, Sv X acildh
WEHERPEHEORFRICZEN T VI EEDITONE, £/, FNFhOIECHT 3
7 & v — OHOWFHER ., FEHEBICHNLTH S L ORRD P T 21T A >Tn 32, * v
P2 —RCBNTE FHCERETFCLT EESRE I L chiedd 3 7 4 n—
BEICT 4 B —%FfFPRE WS EHERBRINT VS, ChiE, 7+ e —OHHEREEY F
CRFT 574 v —fCHBICHURI NI TREMSBH D C L ERE LT3, TDX 5 REREEH
FEOZHZHMINT €2 HAEICVERT 2 L E2 b 328, BINICH S C & kRETH b,
VIial—vavVEFARLIBNIBHSERNTH S EEbh 3,

News Group A &Y 0 | >%0Q(d)?
fj.jokes 12.55 | 1.07 | 1.95 0.24
fijokes.d - | 3.25 | 2.27 | 3.90 0.27
fj.sys.mac 17.08 | 1.15 | 1.67|  0.26
fj.sys.ibmpc 5.16 | 1.67 | 2.33 0.26
fj.books 3.97 | 0.57 | 1.00 0.19
fj.soc.media 0.78 | 2.81 | 3.63 0.22
fj.misc 2.32 | 0.56 | 0.79 0.26
B e 1 982 | 2.00 [2.63 | . 0.2
fj.news.usage 4.83 | 1.66 | 2.02 0.27
fj.soc.men- women | 2.13 | 1.55 | 1.87 0.23

£5: FHECHGEATF A—4
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EHIE (2.11) X (217 )2
News Group Ty | o | 8 | S8 | B8 | o

fj.jokes 27.46 | 196.27 | 27.76 | 50.83 | 27.76 | 31.88
fj.jokes.d 7.91 | 38.55 | 7.77 | 13.51 | 7.77 | 8.91
fj.sys.mac 54.05 | 834.61 | 55.01 | 148.11 | 55.01 | 69.40
fj.sys.ibmpc 17.73 .} 172,01 | 18.20 1.48.91 | .18.20. 1 2263
fj.books 9.11 | 4697 | 9.23 | 2146 | 9.23 | 10.93
fj.soc.media 3.31 | 1431 | 3.45 | 1042 | 345 | 4.16

fj.misc 9.57 | 143.68 | 7.99 | 30.50 | 7.99 | 11.26

fj.rec.games.video.
home.superfamicom

fj.news.usage 27.00 | 210.29 | 26.86 | 115.42 | 26.86 | 36.52

36.59 | 651.21 | 41.34 | 127.41 | 41.34 | 51.77

fj:soc.men- women | 13.76 | 116.67 | 12.12 | 54.43 | 12.12 | 15.73

# 6: BRROTIIE & O L
3.6. EEZEE

EREND = 2 — R 7 A 7 ICHR S AT R SR H OB IC X > TIX5 L TR
L7efiR%2E TICRT . 1HEH & HEH BRI, B ool H ICHETETF %,
BRCET ZBEBROIETOBRE X, fj.rec.games.video.home.superfamicom T L <,
fi.news.usage THAR V. TO XS REHAD, =2 —R A —TOWEERERLTWEDOT
Bhrvhe#fllEns, E547— L 0FFEFEREY — L L L TRFET 2 REHE
AR &, fjnews.usage 3. FamASERLN AT EICRET 2EHAS D 27D, HRE W
bRy b=a—2hbifhbohhv, EXZ0HERELTELDN D,

RERFIIENT 2 BAE T2 5 R AME T D ZERICAN S RETH B, 2.HITCEH L HE
RERBOMHTCR. FANEE 2 HR L cEMAasT v 2 RA L. FAYEBEEE L R
BRI R SBOEEE LTEIN TS,

RIETC. BFEE O FRIZ FTNICIT A& - oS & ERIEZA—H L & WEERO—D2 I F#H
EB DT 7o EF—2CEFENEMEHOZELRET 2D, BEHEBCERLT
HREEFTALER Y, 22T, BEBORMROLHFRE RO T, &tkicds 3Ee. &
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Bl & DHE R TR > 2% BREZHES ICTEF. BAMCEIL L7 — & DLEBREL I
SRICH LCEHE I N AEFRBECHERTIETL, (2.11) RCHE X N2 EWRH T W
EE 225, LALAaMD, SHRBCENLEDND, 75 v—0OBROSHEEE L &
(2.17) RCEHFE S h 2 EHREIL . BEEBEBRE L 2 FAE L KL TN IWETH -
7eo FTHME &EAIEOEZR, BEEECL > TE&T2FHAT 2 c L T°E T, HREEOSEH
RHEET 3R L TR, BEOMEKA S D, MOERICDOWT b EET 3 BELD 3,

News Group H H K 7K 7N & +
fj.jokes 5.62 | 16.54 | 16.38 | 18.17 | 19.08 | 16.59 | 7.61
fj.jokes.d 5.16 | 15.87 | 18.45 | 19.55 | 18.58 | 15.78 | 6.60
fj.sys.mac 6.05 | 17.10 | 17.27 | 17.12 | 17.59 | 16.94 | 7.92
fj.sys.ibmpc 4.85 | 18.81 | 19.35 | 19.06 | 17.59 | 14.46 | 5.87
fj.books 4.48 |10.45 | 18.21 | 21.79 | 20.00 | 16.12 | 8.96
fj.soc.media 5.71 | 18.10 | 27.62 | 11.43 | 15.24 | 13.33 | 8.57
fj.misc 4.08 | 15.16 | 25.66 | 19.24 | 14.58 | 15.16 | 6.12

ﬁigﬁ;gﬁ?i;ﬁ;ﬁ%ﬁi;h_ 2.63 |20.63 | 20.41 | 20.26 | 18.51 | 14.05 | 3.51

fj.news.usage 10.58 | 19.80 | 18.09 | 13.54 | 13.77 | 14.90 | 9.33

fj.soc.men- women | 6.80 | 17.86 | 9.90 | 23.69 | 16.50 | 16.89 | 8.35

7 BACX2EFHREOE - (BHEOEHX)

SR THEDOREY R T B, T TTREBHREE A CHER T4 - ko
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News Growp |2tk |2 (B0 [ g | x [k [ x| & | =
ks 051 | 0.26 | 020 |0.45|0.30]0.32]027|0.29] 039|036
fidoTed 4 079 | 047 | 033 |0.72|0.56|0.69 | 0.68 | 0.57 | 0.51 | 0.83
f S Ed 053] 022 | 0.5 |0.37|0.30 |0.30 | 0.35 | 0.37 | 0.45 | 0.37

fisysibmpe | 0.74 | 0.38 | 026 |0.59|0.42 | 051 | 0.56 | 0.66 | 0.50 | 0.61
fihaoks 0.75 | 0.50 | 0.36 |0.70 | 0.66 | 0.61 | 0.32 | 0.44 | 0.09 | 0.35

fisocmedia | 114 | 0.94 | 059 |0.75|0.81 | 0.66 | 1.59 | 1.19 | 0.77 | 0.58
Bl 125 | 0.60 | 042 |0.61 045|099 |0.800.79]0.75 | 0.87

ﬁg§§§§33§§§;;§§§31 0.70 | 027 | 0.7 |0.42]0.19]0.19|0.19 | 0.38 | 0.28 | 0.48

finews.usage | 0.54 | 0.40 | 0.22 [0.50|0.37 | 0.28 | 0.26 | 0.51 | 0.39 | 0.34

fj.soc.men- women | 0.79 | 0.61 | 0.33 |0.52 | 0.68 |0.43|0.50 | 0.58 | 0.27 | 0.77

# 8 BEHEICRS LG o0& FROZTIREK

4. < 3al—varEFI

4.1. HH

Ay b =a2a—2XREMAT 5 O CBBE LRI EERE Y FRIT 2 2ok, BuRREINIIC
BRI NBEROFY L M EMILERD S, 2.3 HBLU25.8fCR, ==— 27—
TORHEANT A=A h b, ThDERBITNICRY 3 HEEICD wTili_ o © OfEER % EZAIE
LHET D & BRMBEOTPEERELS —HT 2300, SHEEAEICHSTHI WE
Eolce TORRO—D I, ERORFRICE 7T B AN &+ 3 B8EEERS b, HiEF
HEINTETR3 e BELDbND. E7, Bic, BEDORy F =2 —2CBnTiE, BK%
51 —HOFEBICEHF 250HE., LoFEECHNT 7 v —ROFEIREL AB C &8
THIN, 75 v —ORBICHT 2 7 5 v —ROWFER, THRECHT 2 74 v —HoM
FHEZHOLTH B & U MFTERR ORI & b BA ZAIREERE L b . TR O DBEMEAL
Re BB S 7cd, BBETHERERCY I 2v— b F3EFARVERL, xS

A=K T EHEREOMBRIHET 3 & 2R b7
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4.2.

ERETEIETIL

X 151 EFRTEOETFAZRT . ERTHORERRD R T v 7 Tlihbitb,

1.

o

4.3.

ENEROHEIIC, KT Y v HHICHE S BOFREFRSRET 5, BHEEHEZERT
BEEES BTV vRHDOAT A—2THbFEEFR L L. BAEOFHRERD
BREOTFEELH 5,
ENEFNOFHERE. T OHICHS 7 + v — OHIFFER D,
ENENOERICHT 274 v—0HE, 7+ v —DOHFEEZ NI A-F LT ERT
Vvt ko TREI NS,

7+ a— ORI 7+ e —DOBNODHFICHE S BILE D > TiTAbiL s, BEREZEH)
2ERTIHEE 7 v—0ORMHOEH 2KD, ZOEHICET 3 7 4 v —&KH
BOEEHEGEXE [0,1] 0O—RER L Y /DI BEE 7 5 v —DBENEBHHET
%o

7 5 B BRSICH T B 7 m— OWHERL. TTAHED 7 + v —OBEEE . T I
5 7 5 v —OWIEFEONEFHICX > THEL 5. T T T, JTTILED 7 4 v—HHE
CxId 2EAOHGE [REKE] 255,

RIEC7 + o — DOHFFERE RT A—2 e FTERT Y v E Y, ROT7 5 v —DH %
BRET 5o -

4 CR?3

7045 S5 LDOHERK

16 K& BTEoy Iat—vavruerZ 507w —F+— F2RT. AR, B
BEEFALARTH LR, FHE 7+ v —0&FEE—DDOFHECE L O &, 75 r—
%740 —HTY = ENRZ vy 7CEOAEICLY, T v 5 s0ffHb & IMEOER
1L ->Twn3,

AL vr—F v OMER, FEENCHBDENTROHKDOWT, ¥, HHIKCfTA
b BFHEREE AT Y VEBICX o TRET %0 RiC, FHREMREZTERA—F v %
RERH . C DBR T ELE[16, 14, 15] K X > TEDOEMWICHFFE NS 7 4+ v —DFHEEK
HTEL,
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RRISTR

/
AT
G

7+ 0 —3%f

I 53

ICHES T EBUTRD X 5 I LTRE X ¥ 7,
EFN o<1 OBEESTR [14]) ICRE W ROFIECEEF KT %0

L. I [0,1] O—BRELS wo XU uy HAERT 3o
2. up < ef(a+e) DEE,

(a) p= (g_La+e€ UO)—Q %g‘f'g?éo

(b) uy < e? &b p/0 XEBEE T 30

() 25 ThUIIE, —BEEK uon w DR b2 b S,

3. Z5ThRVEE.

(a) p= —log(let&lll-uo)y pzipmy 7

al

(b) vy <p* ' &b p/0 RESEE T3,
(c) Z5ThRINIE, —HEELI o ui DRELL2 DET

Ty o2 1 OFEEIHE [15] IR E W AROFIECEEB A ERT 2o

oL

l.ag=a-1, 2 =—2 3=2/c;n cy=c3+2, Cs=71;; £33,
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X[ [0,1] O—KEELE w1 B uy ERKT 3,

a 2325 XD RECEEIE v = uy +c5(1 — 1.86u;) &3 3,

ur D3X[E] (0,1) ICHLE DR WH ST —HEELEK vov w1 DRENALL VET,
w=22 243,

amtwtl <ey ab A REBELT B0 25 CATRE—REEBROER S b2 D E
ER)

7. cslog(ur) —log(w) +w <1 &b &8 2EHE L T2, %5 ChTNE—REELEOE
b DIET,

S o W

RAT, TOHIK 7 y v—FREFTHERZEZ v 7 LedhE, ZhbicowcEigr—
FrEHUHT BELr—F v id. 5Abhe7 + v —0HEHEEHWTRT v vES R4
RIBCLICXD 74 v —BERET 2. KTV VERIZ. 74 v —0OfFHER HTET
Y YO ERE L TR MEREVER L cth, —BEB X b chiiiBl&dF3c ik -
TRD 7,

INEND7 xn—ICH L, DoHLH7 5+ u—DBNOREO TP BRE LB EY —
HELBCHSE T2 etV 7y n—DBh %252, BEHERET %, 7. T 2K
CEDZNENDT7 5 v —FHICHT 27 4 v —DOROPRHEEZRD 2, COBR, 74 u—
CEZ %74 vw—DHOWFFEL LT, TIED 7 + v — OB ONFHE L — & X 3 ¢
EBTEDZLOSCT T 7 L%ER Lo THIE. TCEEHBED 7 4 v — DO BEHES po-
I GETRD 7 v —DHFHER pry #ERE r T3 L%, KX oTT7 4 2—0
% 523 s CX>TiiA>TWn3,

p=rp,+ (1 —r)pr

Ziu—RBRBEAEIND D, ChoDER 7+ ve—KBHTY—FLTXZ v 7 KK,

VIalb—VvavOmRTHE, HHOFHERE L 7+ v — BRI, =
BO=2 -2 7 A =T h BN —2 LALHRTT vy 1§23, $hy TAETROE
HORHEES LBEMHE. $LUT7 5 u— DR TH 2GR THBOHNEES L BN IS
L. #EtEoFEHIcHw 3,

37



BiEL—-F>
7#D—&®%§
FRBRBRORE (7¢m—$EFEEk——

[74 0-otsEoRE]

TAA=ZXZy Y
NDIEHIAH

(feturn

Bl 16: I av—vav7ruZJLnfn
4.4. FEITHER

KEDX Yy F 22 —RXhbBONENT A-2E2HwT, BHEFHDOL Iav—va v
efihovco BHHEINZ—HA ) OBRFEROWRE. FZHIE & B L iR %E 9 K, #
REOHEZX 17, K18, K19 H XU 20 icRd, BERECELTE,. ¥ Iat—v s
VETHORRE ., FHIE & 131E—L 7.

Fv b =2 —ZRORROBHEFERIC L > TR I NI RKEEOREYEFT T A— 2T
5. FOH, ROKEEX, ROFEHEICDOWT, FHfEE Y I 21— 3 VEFEREY
LR EE L0 IKRTo NT A= X OFHERREHE —B L ek, —HD=2—2
TA—TT, DEBREERBRIAME LN

KT —ZDOFICBVTH, Y Ial—va vHERBENTYH, BBEOHERMTCH
by 74 v —OHIFHERMOEOFELZ T FICTI v FACREIND L IR E BN
Tt % TR oo LA LARD, HECE, 75 v —HCHEINE 7 5 v -5, *
DIEACRICHIFFE N 7 v — e BT TRAVEEZ LIS, b, v F=a2—20D%
IEC & > THEREF I FEEICH LT 7+ v—0REMINT 2 b0 &L bR, KOk
T, BIVRRTOSER. ILBOWERMT L RE L BECHRTKEAER L 2%
55 LLaAb, TOXS BERERLADE. fijokes.d dDHTH b, KEEDOTIR
NI A= B DOHOREIE, MOERIBEELCTWEDDLEEL bR, KOKAE X DL
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LB ¥, TR EXREE

SEHlfE Vial—va ViR
News Group BEEE | 7+ v— | 2RFEH | FREE | 7 e— | 2BEK
B | B BRRE | B
fj.jokes 12.55 14.92 27.46 12.85 15.52 28.38
6.84 8.62 14.01 5.73 8.87 13.24
fj.jokes.d 3.25 4.66 7.91 3.32 4.57 7.88
2.60 4.74 6.21 2.18 3.85 5.23
fj.sys.mac 17.08 36.97 54.05 17.08 36.66 53.73
9.39 20.95 28.89 7.08 19.05 24.27
fj.sys.ibmpc 5.16 12.57 17478 5.48 13.33 18.81
3.58 10.62 13.12 3.21 9.46 11.45
fj.books 3.97 5.13 9.11 3.92 5.14 9.05
4.32 4.58 6.85 2.60 4.83 6.52
fj.soc.media 0.78 *2.53 3.31 0.73 1.94 2.67
1.46 3.28 3.78 0.93 2.97 3.31
fj.misc 2.32 7.24 9.57 2.42 5.19 7.61
4.41 8.93 11.99 1.77 5.30 6.43
fj.rec.games.video. 9.82 26.77 36.59 9.50 29.32 38.82
home.superfamicom 1:13 19.56 25.52 5.47 19.69 2397
fj.news.usage 4.83 22.17 27.00 4.65 22,74 27.39
5.13 12.79 14.50 2:30 13.38 14.30
fj.soc.men-women 2.13 11.63 13.76 2.38 11.22 13.60
212 9.72 10.80 1.71 9.00 9.67

9 HAEEY I 21— a3 vORE
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AL EZHUOOREAMINL., BHEIIH I N D 2 EZ b b, fjjokes.d (FEE
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LE . TE: SR

SFHIfE Yialb—va vk
News Group FoH | R&EX | FHE | Foll | K% | FHE
S Ske 0.548 | 2.045 | 1.872 | 0.549 | 2.180 | 2.159
0.829 | 5.819 | 3.483 | 0.838 | 7.873 | 5.878

fj.jokes.d 0.582 | 2.977 | 3.393 | 0.584 | 2.380 | 2.357
0.731 | 41.31 | 52.04 | 0.754 | 8.494 | 6.444

fj.sys.mac 0.690 | 2.389 | 1.990 | 0.684 | 3.105 | 3.022

1.102 | 9.163 | 3.273 | 1.079 | 31.12 | 18.89

fj.sys.ibmpc 0.716 | 2.847 | 2.544 | 0.707 | 3.398 | 3.441
1.024 | 18.68 | 10.01 | 0.999 | 39.87 | 34.33

fj.books 0.569 | 2.006 | 1.978 | 0.571 | 2.327 | 2.312
1.141 | 4.006 | 3.118 | 1.068 | 11.99 | 8.165

fj.soc.media | 0.774 | 2981 | 2.140 | 0.732 | 4.234 | 4.727
0.986 19.49 | 2.613 | 0.932 | 53.05 | 53.21

fj.misc 0.709 | 3.294 | 3.469 | 0.685 | 3.194 | 3.256

1.607 | 27.39 | 20.04 | 1.482 | 53.83 | 45.29

fj.rec.games.video. | 0.762 | 2.940 | 2.622 | 0.760 | 4.236 | 4.353
home.superfamicom | 1.053 | 15.57 | 9.349 | 1.032 | 70.57 | 60.14

fj.news.usage 0.820 | 5.416 | 5.647 | 0.832 | 6.437 | 6.738
1.226 | 102.0 | 65.69 | 1.194 | 299.0 | 253.9

fj.soc.men-women | 0.824 | 5.229 | 5.171 | 0.828 | 4.701 | 4.250
1.265 | 103.6 | 79.86 | 1.270 | 91.02 | 49.03

£ 10: KiEEDARA T A — Z DL
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B 7o4>LYUX b

Bl. ~v4&—FHROH#HLE

22— RY—FREE2 TN ENEHNDO 7 7 A MICRIIT 20 ~y X — BB S o >
7Lk BH—DORRRERD 7 7 A VREHEATI DT & D, ~ v X — {5 e EHEH Ic
THEHT o LTFOvzAR7 )7 10, FED =2 —RI AN — T DFEHEE DT 4 L 7 |
VD77 ANER LLBELT, ETOREO~y # Wk =207 7 A MCEE T

if [ -e $1.hed ]
then rm $1.hed

fi

for £ in $1/%
do ./header $f >> $1.hed
done

UTrE~y F—fEET e 774 TH 5, £ v b =2 —XDEEEH b Subjecty Froms.
Message-ID, References, Date, Lines i3 3,

#include <std10 h>
#define NH 8
#define Ref 5
#deflne MID 4
#define Cat 3
#define Sit 2
#define Frm 1
#define LL 256

unsigned char *headers[NH] ={
“Subject: ",
"From: ",
"Site: M,
"Category: ",
"Message-ID: ",
"References: ",
"Date: ",
"Lines: "};
unsigned char line[LL];
unsigned char data[NH] [LL];

unsigned long hash(unsigned char *s){
union {
unsigned long lword;
unsigned int word[2];
unsigned char byte[4];} cell;
unsigned long sum;
int 4, 3;
unsigned char c;
for(sum = i = 0; s[i]; i++){
j=(d *9) Y% 32;
cell.lword = O;
cell.byte[0] = s[i];
if(j < 24) cell.lword <<= j;
else{
cell.lword <<= (j - 8);
c = cell.byte[3];
cell.byte[3] = cell.byte[2];
cell.byte[2] = cell.byte[1];
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cell.byte[1] = cell.byte[0];
cell.byte[0] €i}
sum += cell.lword;}
return(sum);}
void refcont(void){

unsigned char *pline;
for(pline = line; pline; pline++) if(*pline != ’ ’) break;
strcpy(data[Ref], pline);}

void refchk(void){
unsigned char buf[LL], *dline, *pline = buf;
strncpy(buf, datalRef], LL);
for(dline = data[Ref]; *pline; pline++){
switch(*pline)q{
case ’
case ’,’:
case ’>’: break;
case ’<’: dline = datal[Ref]; break;
default: *(dline++) = *pline;}}
*dline = ’\0’;
strncpy(buf, data[MID], LL);
for(dline = data[MID], pline = buf; *pline; pline++){
switch(*pline){
case ¢t <04
case ’,’:
case ’>’: break;
case ’<’: dline = data[MID]; break;
default: *(dline++) = *pline;}}
*dline = ’\0’;}
fromcut2(){
char *p, token[10][LL];
int it, i
for(p = datalFrm], i = 0; (*p != ’@’) && *p; p++){
if((*po== > 2) L Gkpo==2)2) || (kp == ?>?) || (xp == ’<?))
i = 03
else token[0] [i++] = tolower(*p);}
token[0] [i] = ’\0’; ’

1f (*p) p++;
for(i = 0, it = 1; *p; p++){
if(xp == 7.2){
token[it++][i] = °\0’; i = 0;}
else if ((xp == 7 7) [[(*xp == >(*) || (*p == ’<’) || (¥p == ’>?))
break;

else token[it] [i++] = tolower(*p);}
if (i) token[it][i] = 2\0?’;
else it--;
if(!strcmp(token[it], "jp")){
if (it >2) strncpy(datal[Sit], token[it-2], LL-1);
else data[Sit][0] = ’\0’;
if(it > 1) strncpy(datal[Cat], token[it-1], LL-1);
else data[Cat][0] = ’\0’;}
elseq
if(it > 1) strncpy(data[Sit], token[it-1], LL-1);
else data[Sit][0] = ’\0’;
if (it > 0) strncpy(datal[Cat], token[it], LL-1);
else data[Cat][0] = ’\0’;
fprintf(stderr, '"check! From: ¥%s\n", data[Frm]);
fprintf(stderr, "user = Ys, site = s, cat = Ys\n",
token[0], data[Sit], datal[Cat]);}
strncpy(data[Frm], token[0], LL-1);}

fromcut (){
char #*p, token[10][LL];
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int it, i;
for(p = datal[Frm], it = i = 0;
(kp !'= 7=7) && (xp != " ’) &
(kp '= ’>’) && (¥p != ’(’)
if((*p == 2.7) || (%p == @’
if(it++ < 10){
token[lt 11[i] = ’\o’;
i=0;}
else{
fprintf(stderr, "From error. From : %s\n", data[Frm]);
exit(2);}}
else token[it] [i++] = tolower(xp);}
token[it][i] = °\0’;
if('token[it] [0]) it--;
if (it < 3){
for(p = data[Frm], it
if((xp == > ) || (%
)
)

*p && (i < LL) &&
++)

s
’)) it =i = 0;
else if((xp == ’@’ =
token[it++] [i] = 0}
else if((¥p == > = ’\0?) || (xp == 2(’)){
token[it][i] = ’\0
else token[it] [i++] = tolower(*p);}}
if (!strcmp(token[it], "jp")){
strncpy(datalSit], token[it-2], LL-1);
strncpy(data[Cat], token[it-1], LL-1);}
elseq
strncpy(datal[Sit], token[it-1], LL-1);
strncpy(data[Cat], token[it], LL-1);
fprintf(stderr, "check! From: Y%s\n", data[Frm]);
fprintf (stderr, "user ={Y5; site =£Ys,.cat = Ys\n'S
token[0], data[Sit], datal[Cat]);}
strncpy(data[Frm], token[0], LL-1);}

main(int argc, char *argv[]){

int i, id;

FILE *fp, *fopen();

if(!(fp = fopen(argv[i] ME)) o
fprintf(stderr, "file s cannot open\n", argv[1i]);
exit(3);}

Whlle(fgets(line, LL-1, fp)){
*(line + strlen(line)-1) = ’\0’;
if(line[strlen(line) -1] == ’\r’) line[strlen(line) -1] =
1f(str1en(11ne) < 2) break;
for(i = 0; i < strlen(llne), 1++){

if(line[i] == ’\t’) line[i] = * *;}

for(i = 0; i < NH; i++){

o
H
[0
&
o

if((1 == Sit) II (i == Cat)) continue;
1f('strncmp(11ne, headers[i], strlen(headers[i]))){
id = i;
strcpy(data[l] line + strlen(headers[i]));
break;}}
if (i »>= NH) &% (id == Ref) && (line[0] == * ?)) refcont();
else if ((i >= NH) && (id == Frm) && (line[0] == ’ ?)){
strcpy(datalFrm], line); }}
refchk();
fromcut2();

sprintf(data[Ref], "},081x", hash(data[Ref]));
sprintf(data[MID], "%081x", hash(data[MID]));

printf ("0 Y%s\n", argv[i])

for(i = 0; i < NH; i++) printf("%1d Ys\n", i + 1, datal[i]);}
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B2. ZEEFZOEY b

Q

KD 7 8 79 ACIERE e~y X — i b HHOBEMRS R, Fol.
BROKEXRKD D, Ehey BN%E 1995E 1 A1 BAbORBBEKICHIE L, 74 2—
OENHE®RD S,

#include <stdio.h>
#include <string.h>

#define NF 20000
#define LL 256
#define FNO O
#define SBJ 1
#define PQOS 2
#define SIT 3
#define CAT 4
#define MID 5
#define REF 6
#define DAT 7
#define LIN 8

char line[LL], *1p, poster[NF][9], site[NF][13], cat[NF][4];
unsigned long mid[NF], ref[NF];
int lines[NF], reffile[NF], refcnt[NF], allent [NF],
dat[NF], tim[NF], delay[NF], fno;

FILE *fpl, *fp2, *fopen()
char monnam[12][4] ={"Jan", "Feb", "Mar", "Apr",

IlMayll IIJunII’ llJulll A HAugll 5

llsepll lloctll’ ”NOV” s llDeCII};
int monday[12]={ 0,: (315915958 90;/120 ;=151 ,

181, 212, 243, 273, 304, 334};

main(int argc, char *argv[]){

int i, lineID, day, year, hour, min, sec;

char month[4];

if(arge < 2){
fprintf(stderr, ”Usage : \/i refset <infile> <outfile>\n");
exit(3);}

if (! (fp1 = fopen(argv[1]l, "r"))){
fprintf(stderr, "file %s cannot open\n", argv[i]);

exit(2);}
if (1 (fp2 = fopen(argv[2], "w"))){

fprintf(stderr, "file %s cannot open\n", argv[2]);
- ex1té2) sk
no =

whlle(fgets(llne LL - 1, fp1)){
line[strlen(line) - 1] = ’\0’;
if(line[strlen(line) - 1] == ’\r’)
line[strlen(line) - 1] = ’\0’;
sscanf(line, "%1d", &lineID);
/* printf("lineID : %1d, line : %s\n", lineID, line); */

switch(1lineID){

case FNO: fno++;/*sscanf(line + 2, "/%d", &fno);*/
break;

case MID: sscanf(line + 2, "%1x", &mid[fno]);
break;

case REF: sscanf(line + 2, "%1x", &ref[fno]l);
break;

case P0S: strncpy(poster[fno], line + 2, 8);
poster[fno] [8] = ’\0’; '
break;

case SIT: strncpy(site[fno], line + 2, 12);
site[fno] [12] = ’\0’;
break;

case CAT: strncpy(cat[fno], line + 2, 3);
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cat[fno] [3] = ’\0’;
break;
case DAT:
printf (e[} dinse Je\n's  Ehols Tdne)s

for(lp = line + 2; ; lp++){

if((*¥1lp >= ’0’) && (*1p <= ’9’)) break;}
printf("[%4d] : %s\n", fno, 1lp);
sscanf (1p, “Wd Y3z Jd Yd:¥d:¥%d",

&day, month, &year, &hour, &min, &sec);

printf("day : %d, month : s, year : %d, ", day, month, year);
printf("hour : %d, min : %d, sec : %d\n", hour, min, sec);
for(i = 0; 1 <12; i++){

if (strcmp(month, monnam[i]) == 0){
dat[fno] = day + monday[i];
break;}}
if(1 >= 12){
fprintf(stderr, "error %s is not month name!\n",
month) ;

fprintf(stderr, "line : Y%s\n", line);
fprintf(stderr, " 1p : %s\n", 1p);}
tim[fno] = 10 * (60 * hour + min) + sec/6;
break;
case LIN: sscanf(line + 2, "%d", &lines[fno]);
break;}}
for(fno = 0; fno <NF; fno++){
if(ref[fnol]) for(i = 0; i < NF; i++){
if(ref[fno] == mid[i]){
reffile[fno] = i;
refcnt [i]++;
delay[fno] = dat[fno] - dat[i];
break;}}}
for(i = 0; i < NF; i++){
for(fno = i; reffile[fno]; fno = reffile[fno]){
allcnt[reffile[fno]l]l++;}}
for(i = 0; i < NF; i++) if(poster[i][0]){
fprintf(fp2, "5d %5d. 454 %5d %5d %5d %74 %5d %s %s Y%s\n",
i, refcnt[i], allent[i], reffile[i], delay[i],
dat[i], tim[i], lines[i], poster[i], site[i],cat[i]);}}

B3. {ERIFRE#%

TR #H77 7% ps B CHERT 2 0 0BBE L ~v X—T7 741 TH D,
~y X —7 A "psplot.h"

FILE * plots(char * file, int left, int bottom, int right, int top);
/* initialize psplot for file and return file pointer (fpp) */
/* plotting area determind by left, bottom, right and top */
void width(FILE * fpp, double w);
/* set line width to w points */
void plot(FILE * fpp, double x, double y, int iplot);
/* line(iplot=1) or move(iplot=0) to (x, y) by unit of cm */
void psputs(FILE * fpp, double x, double y, double deg, int pt, char * s);
/* put string s from (x, y) to deg direction by point pt */
void psputi(FILE * fpp, double x, double y, double deg, int pt,
int ¢, ot 1)}
/* put integer i by psputs, adjusting center(c=’c’) or right(c=’r’) */
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void psputd(FILE * fpp, double x, double y, double deg, int pt,
int c, char *fmt, double d);
/* put double d by format fmt, other parameters are same as psputi */

void plote(FILE * fpp);
/* end psplot and close file %/

ps VEEIEE#L psplot.c

#include <stdio.h>

FILE * plots(char * file, int left, int bottom, int right, int top){

FILE * fpp;
if((fpp = fopen(file, "w")) == NULL) return NULL;
printf ("\nplot %s\n", file);
fprintf (fpp, "4!PS-Adobe-2.0 EPSF-1.2\n");
fprintf (fpp, "hh%%Pages: 1\n");
fprintf (fpp, "WA4ABoundingBox: Y%d %d %d Y%d\n",

left, bottom, right, top);
fprintf(fpp, "AAk%DocumentFonts: Helvetica\n");
fprintf(fpp, "A%%%AEndComments\n");
fprintf(fpp, "/hvi0 /Helvetica findfont 10 scalefont def\n");
fprintf(fpp, "/hvi2 /Helvetica findfont 12 scalefont def\n");
fprintf(fpp, "/hvi4 /Helvetica findfont 14 scalefont def\n");
fprintf(fpp, "/hvi6 /Helvetica findfont 16 scalefont def\n");
fprintf(fpp, "/hvi8 /Helvetica findfont 18 scalefont def\n");
fprintf(fpp, "/hv20 /Helvetica findfont 20 scalefont def\n");
fprintf(fpp, "/hv22 /Helvetica findfont 22 scalefont def\n");
fprintf(fpp, "/hv24 /Helvetica findfont 24 scalefont def\n");
fprintf(fpp, '"newpath\n");
fprintf(fpp, "0 setlinewidth\n");
return fpp;}

void width(FILE * fpp, double w){
fprintf(fpp, "closepath\n stroke\nnewpath\n/f setlinewidth\n", w);}

void plot(FILE * fpp, double x, double y, int iplot){
/* plot line by unit of cm */
static double point = 72 / 2.54;
/*printf("plot %f Yf %d\n", x, y, iplot);*/
if(iplot) fprintf(fpp, "Yf Yf lineto\n", x * point, y * point);
else fprintf(fpp, "#f Uf moveto\n", x * point, y * point);}

void psputs(FILE * fpp, double x, double ¥y, double deg, int pt, char * s){
static double point = 72.0 / 2.54;
static char hvfonts[8][5] = {"hvi0", "hvi2", "hvi4", “hvie",
"hv18", "hv20", "hv22", "hv24"};
if(pt < 10) pt = 10; else if(pt > 24) pt = 24;
pt = (pt - 10) / 2;
fprintf(fpp, "hs setfont %f Yf moveto Y%f rotate (Ys) show If rotate\n",
hvfonts[pt], x * point, y * point, deg, s, -deg) ; }

void psputi(FILE * fpp, double x, double y, double deg, int pt,
int ¢, int i){
static double point = 72 / 2.54;
char s[256];
sprintf(s, "Jd", i);
switch (c){
case ’c’: x -= (5 / point) * strlen(s); break;
case ’'r’: x -= (10 / point) x* strlen(s); break;}
psputs(fpp, x, y, deg, pt, s);}
void psputd(FILE * fpp, double x, double y, double deg, int pt,
int c, char *fmt, double d){
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static double point = 72 / 2.54;

char s[256];

sprintf(s, fmt, 4);-

switch (c){

case ’c’: x -= (5 / point) * strlen(s); break;
case ’r’: x -= (10 / point) * strlen(s); break;}
psputs(fpp, x, y, deg, pt, s);}

void plote(FILE * fpp){
fprintf (fpp, "closepath\n");
fprintf (fpp, "stroke\n");
fprintf (fpp, "showpage\n\n");
fprintf (fpp, "%A%ATrailer\n\n");
fprintf (fpp, "AAALEOF\n");
fclose(fpp); 7+

B4. HEETOS S L

co7ur7 ol §ifio 7w FACERIN AT T AALRPUELC, =2 —X 71—
T DEFERFHINT A— 2 %KD D, £, RET T 7% ps WX CVERLT % & 3tic, RES
DY Ial—=avriwlILDkdDF—E 77 ALBVERT 3,

#include <stdio.h>
#include <math.h>
#include "psplot.h"

#define MAX 100

#define LINE 80

#define DAY 365

#define PMAX 100

int nref[MAX], nref2[MAX], ndat, kmax, startdat, enddat;

double pobs[MAX], pest[MAX], pest2[MAX], nest[MAX], nest2[MAX], q2, lambda;

symbol(FILE * fpp, double.s, int is){

s *= 72 [/ 2.54;

switch (is % 3 + 1){

case 1:{ /* + %/
fprintf(fpp, "0 Jf rlineto\n", s);
fprintf(fpp, "O %f rlineto\n", -2.0 * s8);
fprintf (fpp, "0 4f rlineto\n", s);
fprintf(fpp, "Af O rlineto\n", s);
fprintf(fpp, "4f O rlineto\n", -2.0 * s);
fprintf (fpp, "%f O rlineto\n", s);
break;}

case 2:{ /* X x/
fprintf(fpp, "%f 4f rlineto\n", 0.7 * s, 0.7 * 8);
fprintf (fpp, "Uf %f rlineto\n", -1.4 * s, -1.4 * g);
fprintf(fpp, "4f %f rlineto\n", 0.7 * s, 0.7 * s);
fprintf(fpp, "If Uf rlineto\n", 0.7 * s, -0.7 * s);
fprintf(fpp, "Af %f rlineto\n", -1.4 * s, 1.4 % s);
fprintf (fpp, ML 4 rlinmeto\n¥, 0.7% 82 L0 T * 8);
break;}

case 3:{ /* [] %/
fprintf (fpp, "Uf 4f rmoveto\n", 0.7 * s, 0.7 * 8);
fprintf(fpp, "4f O rlineto\n", -1.4 * s);
fprintf(fpp, "O %#f rlineto\n", -1.4 * s);

fprintf(fpp, "%f O rlineto\n", 1.4 * s);
fprintf(fpp, "O %f rlineto\n", 1.4 * s);
fprintf (fpp, "Uf 4f rmoveto\n", -0.7 * s, -0.7 * 8);

break;}}}
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double power(double x, int i){

double r;
if(i == 0) return 1.0L;
if(i > 0) for(r = x; --i; ) r *= x;

else for(r =1/ x; ++i; ) r /= x;
return r;t

void week(int n, int* x, double ave[]){
int whist[7], i, total, wn[7];
double sd[7];
for(i = 0; i < 7; i++){
avel[i] = sd[i] = wn[i] = whist[i] = 0;}
for(i = total = 0; i < n; i++){
whist[i % 7] += x[i];
total += x[i];
wnli % 7]++;
aveli % 71 += x[i]l;
sd[i % 7] += x[i] * x[i];}
for(i = 0; 1 < 7; i++){
avel[i] /= wn[i];
sd[i] = sd[i] / wn[i] - ave[i] * ave[i];}
printf('day +-distribution-+ +------- post/day ------- +\n");
printf (" total Wh ave var s.d. sd/ave\n");
for(i = 0; i < 7; i++){
printf(”%Sd %8d %6.2f Y%6.2f Y%6.2f Y6.2f Y6. 3f\n",
i, whist[i], (100.0 * whist[i]) / total, ave[l], sd[i],
sqrt(sd[lj), sqrt(sd[i]) / avel[il);}}

void estpoi(double * nest2, int * nref2, int kmax){

int i, n:

double ti t2, p, factk;

for(tl = t2 = 1 = 0; i < kmax; i++){
tl += nref2[i];
t2 += nref2[i] * i;}

p = t2/ ti;

for(i = 0; i < kmax; i++){
if('i) factk = 1; else factk *= i;
pest2[i] = exp(-p) * power(p, i) / factk;
nest2[i] = pest2[i] * t1;}}

void kgraph(FILE * fpp, int mind, int maxd, int dd, int n,
int dn, double x0, double yO, double wx, double wy,
int 40, int di1)<{

double x, y;
int i, d;
width(fpp, 1.0);
plot(fpp, x0, yO, 0);
plot(fpp, x0 + wx, yoO, 1);
plot(fpp, x0 + wx, yO + wy, 1);
plot(fpp, x0, yO + wy, 1);
plot(fpp, x0, yO, 1);
plot(fpp, x0, yO, 0);
for(l = mind; i < maxd; i += dd){
yO + wy * (i - (double)mind) / (maxd - (double)mind);
plot(fpp, x0, y, 0);
plot(fpp, X0 + 0.2, ¥, 1);
plot(fpp, x0 + 0.2, y, 0);}
for(i = mind; i < maxd + dd / 2; i += dd){
y = y0 + wy * (i - (double)mind) / (maxd - (double)mind);
psputi(fpp, x0 - 0.1, y = 0.1,.0., 10, *¢’, - i)3}
for(i = 0; i <=n; i += dn){
x = x0 + wx * i / (double)n;
plot(fpp, x, yO, 0);
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plot(fpp, x, yO + 0.2, 1);
plot(fpp, x, yO + 0.2, 0);}
for(i = 0; 1 <= n; i += dn){
Xx =x0 + wx * i / (double)n;
d =d0 + 1 * (d1 - d0) / n;
psputi(fpp, x + 0.2, yO - 0.35, 0., 10, ’c’, d);}}

void kgraph2(FILE * fpp, double mind, double maxd, double dd, int n,
int dn, double x0, double yO, double wx, double wy,
int 40, int d1){

double x, y, 1, 4;
width(fpp, 1.0);
plot(fpp, x0, y0, 0);
plot(fpp, x0 + wx, y0, 1);
plot(fpp, x0 + wx, yO + wy, 1);
plot(fpp, x0, yO + wy, 1);
plot(fpp, °x05°¥05+1)5
plot(fpp, x0, yO, 0);
for(i = mind; i < maxd; i += dd){
y =30 + wy * (i - mind) / (maxd - mind);
plot(fpp, x0, y, 0);
plot(fpp, x0 + 0.2, y, 1);
plot(fpp, x0 + 0.2, y, 0);}
for(i = mind; i < maxd + dd / 2; i += dd){
y=y0 + wy * (1 - mind) / (maxd - mind);
psputd(fpp, x0 - 0.1, y - 0.1, 0., 10, ’c’, "%3.1f", i);}
for(i = 0; i <= n; i += dn){
x =x0 + wx * 1 / (double)n;
plet{Epp, =, ¥0; 0);
plot(fpp, x, yO + 0.2, 1);
plot(fpp, x, yO + 0.2, 0);}
for(i = 0; i <= n; i += dn){
x = x0 + wx * i / (double)n;
d=d0+ 1 * (d1 - d0) / n;
psputi(fpp, x + 0.2, yO - 0.35, 0., 10, ’c’, d);}}
void igraph(FILE * fpp, int * dat, int * dend, int mind, int maxd, double dy,
int n, double x0, double yO, double wx, double wy, double wl){
double x, y;
int 1i;
width(fpp, wl);
for(i = 0; (i < n) && (dat < dend); i++, dat++){
y = y0 + wy * (xdat - (double)mind) / (maxd - (double)mind);
if(y < yO) y = yO; else if(y > yO + wy) y = yO + wy;
x=x0+wx * (1 +0.5) / n;
plot(fpp,* X\ yi, D5
plot(fpp, x, y, 0);}
void igraph2(FILE * fpp, int * dat, int * dend, int mind, int maxd, double dy,
int n, double x0, double yO, double wx, double wy, double wl){

double x, y;
int i;
width(fpp, wl);
for(i = 0; (i <= n) && (dat < dend); i++, dat++){

y = y0 + wy * (xdat - (double)mind) / (maxd - (double)mind):

if(y < yO) y = yO; else if(y > yO + wy) y = yO + wy;

x=3x0 +wx * 1 / n;

plot(fpphexseyyol) ;¢
plot(fpp, x, y, 0);%}

void igraph3(FILE * fpp, double * dat, double * dend, double mind,
double maxd, double dy, int n, double x0, double yO,
double wx, double wy, double wl){
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double x, y;
int 93
width(fpp, wl); '
for(i = 0; (1 <= n) && (dat < dend); i++, dat++){
y = yO + wy * (*dat - mind) / (maxd - mind);
if(y < yO) y = yO; else if(y > yO + wy) y = yO + wy;
x =x0 + wx *x1i / n;
plot(fpp, x, y, 1);}
plot(fpp, x, y, 0);}
double gamma_ratio(double alpha, int k){
/* return Gamma(alpha + k) / Gamma(alpha)
= (alpha + k - 1) * (alpha + k -2) * ... x (alpha) */
int i;
double r;
if(k < 0) printf("gamma_ratio called by k < 0, result set to 1\n");
if(k > 0) for(i = 1, r = alpha; i < k; i++) r *= alpha + i;
else r = 1.0;
return r;t

void delayx(int * ndelay, int dmax, double pweek[]){
int i, j, k, n, dlmt;
double work[18];
double pdelay[MAX], pterm[MAX], qterm[MAX], pdelays[MAX], qdelay[MAX];
double q, ave, var, alpha, theta, fact_k, x, y, x0, yO;
FILE *fp, *£pp;
for(i = n = 0; i <= dmax; i++) n += ndelayl[i];
for(q2 = 1 = 0; 1 <= dmax; i++){
q = (double)ndelay[i] / n;
q2 += q * q;}
printf("Sigma Q°2 = %f\n", q2);
fp = fopen("simvars.dat", "w");
for(i = 0; i < 7; i++) fprintf(fp, "4f\n", pweek[i]);
for(i = 0; i <= dmax; i++){
q = (double)ndelay[i] / n;
fprintf(fp, "4f\n", q);}
fclose(£fp);
for(i = n = 0; i <= dmax; i++){
ave += ndelay[i] * 1i;
n += ndelay[i];}
ave /= n;
for(i = var = 0; i < MAX; i++) var += ndelay[i] * (i - ave) * (i - ave);
var /= n;

for(i = 1; i <= dmax; i++) ndelay[i - 1] += (ndelay[i] /= 2);
ndelay[dmax -1] += ndelay[dmax];
for(i = 0; i < dmax; i++){

pdelay[i] = gdelay[i] = (double)ndelay[i] / n;}
for(i = dmax - 1; i >= 0; i--){

gterm[i] = pdelay[i] #* (i + 1);

for(j = 0; j < i; j++) pdelay[j]l -= pdelayl[il;}
printf("\ndelay analysis : ave = |1f, var = %1f\n", ave, var);
theta = ave / (var - ave);
alpha = ave * theta;
printf("estimated : alpha = %1f, theta = %1f\n\n", alpha, theta);
printf("estimated distribution\n\n k : neg.bin., observed\n");
for(k = 0; k < dmax; k++){

for(i = fact_k = 1; i <= k; i++) fact_k *= i;

pdelay[k] = pdelays[k] = (gamma_ratio(alpha, k) / fact_k) *

pow((1 + theta)/theta, -alpha - k) / power(theta, k);
printf("}5d : %6.21f, %6.21f\n",
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k, pdelay[k] * 100.0, 100.0 * (double)ndelay[k] / n);}
for(i = dmax - 1; 1 >= 0; i--){
pterm[i] = pdelay[i] * (i + 1);
for(j = 0; j < i; j++) pdelay[j] -= pdelay[il;}
printf ("\n check interval distribution \n");
printf("day delayl checkl delay2 check2\n");
pELHEE(Y he he e he Xnpgbiyag s < sb)IYRY .
for(i = 0; i < dmax; i++){
print£("%3d U6.3f Y%6:3f Yei3fee.3t\a";
i, pdelays[i] * 100, pterm[i] * 100,
qdelay[i] * 100, gqterm[i] * 100);}

dlmt = (dmax < 16) 7 dmax : 16;
fpp = plots('delay.obj", -20, -20, 520, 350);
x0 = 1.5, yO = 1.5;
kgraph2(fpp; 0.0, 0.5,.0.15 165l X0 70, 216505 :8:0, 405516):
psputs(fpp, x0 + 6.5, y0O - 0.9, 0., 14, '"delay / days");
psputs(fpp, x0 - 0.8, yO + 2.0, 90., 14, "probability density");
igraph3(fpp, &qterm[0], &qterm[dlmt], 0.0, 0.5, 0.2,

i6, x0, y0, 16.0, 8.0, 0.0);
igraph3(fpp, &qdelay[0], &qdelay[dlmt], 0.0, 0.5, 0.2,

16, x0, yo, 16.0, 8.0, 1.0);
width(fpp, 1.1);
plot(fpp, x0 + 8.0, yO +
plot(fpp, x0 + 9.5, yO +
psputs(fpp, x0 + 9.6, yO
width(fpp, 0.0);
plot(fpp, x0 + 8.0, yO + 5.0,..0);
plot(fpps; X0 # 9.5; YU & 5.0 Ao
psputs(fpp, xO + 9.6, yO + 4.85, 0., 14, ": interval of check");

4
6

.0, 0);
OV
5.85, 0., 14, ": delay of follow-up");

+ O O®

plot(fpp,, X0 +. 7.5, yO + 4.5 0);
plot(fpp, x0 + 7.5, yO + 6.5, 1);
plot(fpp, x0 + 14.0, y0O + 6.5, 1);
plot(fpp, x0 + 14.0, yO + 4.5, 1);
ploE(£ppsh X0r 45 Teib =70 b 445 = 1
plote(fpp);}

void setstat(int argc, char *argv[]){
char buf[LINE];
int i, j, k, n, nd, dmax;
int nall[MAX], ndelay[MAX], nnew[DAY], nfol[DAY], nboth[DAY];
int maxdat, mindat, fdat, tdat, nlength;
int nhday[7][PMAX], fhday[7][PMAX], bhday[7][PMAX], nhmax, fhmax, bhmax;
int number, refcnt, allcnt, reffile, delay, dat, tim, lines;
int work[11];
double pref, pall, pdelay, ave, var, length, avea, vara, avel, varl;
double avenew, sdnew, avefol, sdfol, avebot, sdbot, pweek[7];
double x, y, x0, yO;
FILE *fp, *fpp;

for(i = 0; i < MAX; i++) nref[i] = nall[i] = ndelay[i] = 0;
for(i = 0; 1 < DAY; i++) nnew[i] = nfol[i] = nboth[i] = 0;
for(i = 0; i < PMAX; i++) for(j = 0; j < 7; j++)

nhday[jI1[i] = fhday[j][i] = 0;

if(arge < 2){
fprintf(stderr, "error in %s\n", argv[0]);
fprintf(stderr, "Usage : %s FILENAME\n", argv[0]);
exit(3);}

if (1 (fp = fopen(argv[i], "r"))){
fprintf(stderr, "file %s cannot open.\n", argv[i]);
exit(3);}

if(argc >=3) sscanf(argv[2], "%d", &fdat);
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else fdat = 0;
if (argec >=4) sscanf(argv[B] nYd", &tdat);
else tdat = 0;

for(mindat = DAY, maxdat = 0; fgets(buf, LINE, fp);){
sscanf (buf, "%5d %5d %5d %5d Y54 %54 %74 ¥%54",
gnumber, &refcnt, &allcnt, &reffile, &delay, &dat, &tim, &lines);
if((dat >= 0) && (dat < DAY)){
nboth[dat]++;
if(reffile) nfoll[dat]++; else nnew[dat]++;
if(dat < mindat) mindat = dat; else if(dat > maxdat) maxdat = dat;}}
startdat = mindat + 7; enddat = maxdat - 7;
printf("File = %s, date = %d to %d\n",argv[1], startdat, enddat);
if(fdat && (fdat >= startdat)){
printf("startdat limited >= Yd\n", startdat = fdat);}
if(tdat && (tdat <= enddat)){
printf("enddat limited <= ¥%d\n", enddat = tdat);}

printf("\ndairy new postings(-) and follows(+)\n");
for(dat = mindat, nhmax = fhmax = bhmax = 0; dat <= maxdat; dat++){
if((dat >= startdat) && (dat <= enddat)) printf("}5d : ", dat);
else printf("(%4d): ", dat);
for(i = 0; i < nnew[dat]; i++) putchar(’-’);
for(i = 0; i < nfol[dat]; i++) putchar(’+’);
printf ("\n");
if((dat >= startdat) && (dat <= enddat)){
i=dat ¥ 7;
nhday[i] [nnew[dat]]++; fhday[i] [nfol[dat]]++; bhday[i] [nboth[dat]]++;
if(nnew[dat] > nhmax) nhmax = nnew[dat];
if(nfolldat] > fhmax) fhmax nfol[dat];
if (nboth[dat] > bhmax) bhmax = nboth[dat];}}

for(dat = startdat, avenew = avefol = avebot = 0; dat <= enddat; dat++){
avenew += nnewl[dat]; avefol += nfol[dat]; avebot += nboth[dat];}

lambda = avenew /= (enddat - startdat + 1);

avefol /= (enddat - startdat + 1);

avebot /= (enddat - startdat + 1);

for(dat = mindat, sdnew'= sdfol = sdbot = 0; dat <= maxdat; dat++){
sdnew += (nnew[dat] - avenew) * (nnew[dat] - avenew);
sdfol += (nfoll[dat] - avefol) * (nfol[dat] - avefol);
sdbot += (nboth[dat] - avebot) * (nboth[dat] - avebot) }

sdnew /= (enddat - startdat + 1);

sdfol /= (enddat - startdat + 1);

sdbot /= (enddat - startdat + 1);

printf("\n daily statistics : start = Y4d, end = %4d", startdat, enddat);
printf("\n new post / day : ave = %6.2f, var = %6.2f", avenew, sdnew);
printf(" sd = %6.2f, ratio = }6.3f", sqrt(sdnew), sqrt(sdnew)/avenew);
printf("\n follow / day : ave = }6.2f, var = ,6.2f", avefol, sdfol);
printf(", sd = }6.2f, ratio = 6.3f", sqrt(sdfol), sqrt(sdfol)/avefol);
printf("\n total / day : ave = }6.2f, var = %6.2f", avebot, sdbot);
printf(", sd = %6.2f, ratio = %6.3f", sqrt(sdbot), sqrt(sdbot)/avebot);

fpp = plots(”dally obj™, " ~20, 205" 520, 700) ;
x0 = 1.5, yO = 1.5;
for(dat = mindat, yO = 0.5; (dat <= maxdat) &% (yO <18.0);
dat += 80, yO += 8.0){
kgraph(fpp, 0, 35, 5, 80, 5, x0, yO, 16.0, 7.0, dat, dat + 80);
psputs(fpp, x0 + 6.5, yO - 0.8, 0., 14, "date (1995)");
psputs(fpp, x0 - 0.7, yO + 2.0, 90., 14, "articles / day");
igraph(fpp, &nnew[dat] &nnew[maxdat] 0,.35,r0:1,
80, x0, y0, 16.0, 7.0, 0.0);
igraph(fpp, &nboth[dat], &nboth[maxdat], 0, 35, 0.1,
80, x0, y0, 16.0, 7.0, 1.0);}
plote(fpp);
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if(dat <= maxdat){
fpp = plots("daily2.0bj", -20, -20, 520, 700);
x0 = 1.5, yO = 1.5;
for(y0 = 0.5; (dat <= maxdat) && (y0 <18.0);
dat += 80, yO += 8.0){

kgraph(fpp, o0, 35, 5, 80, 5, xO0, yO, 16.0, 7.0, dat, dat + 80);
psputs(fpp, x0 + 6.5, y0O - 0.7, 0., 10, "date (1995)");
psputs(fpp, x0 - 0.7, yO + 2.0, 90., 14, "articles / day");
igraph(fpp, &nnew[dat], &nnew[maxdat], 0, 35, 0.1,

80, x0, y0;716.0;17:0; 0.0);
igraph(fpp, &nboth[dat], &nboth[maxdat], 0, 35, 0.1,

80, x0, yo0, 16.0, 7.0, 1.0);}
plote(fpp);}

printf("\n\nweek day histgram of new postings\n");
week(enddat - startdat, &nnew[startdat], pweek) ;

printf("\n\nweek day histgram of follow postings\n");
week(enddat - startdat, &nfol[startdat], pweek) ;

printf("\n\nweek day histgram of new and follow postings\n");
week(enddat - startdat, &nboth[startdat], pweek) ;

rewind(£fp);
for(ave = avea = avel = var = vara = varl = n = nd = dmax = 0;
fgets(buf, LINE, £p);){
sscanf (buf, "¥5d %5d %5d %5d %5d %5d Y%7d %5d", g&number, &refcnt,
&allcnt, &reffile, &delay, &dat, &tim, &lines);
if((dat >= startdat) &% (dat <= enddat)){
ave += refcnt; var += (double)refcnt * refcnt;
avea += allcnt; vara += allcnt * allcnt;
if (refcnt){
length = allcnt / (double)refcnt;
nlength++; avel += length; varl += length * length;}
n++; ndat++;

if (refcnt >= MAX) refcnt = MAX - 1;
nref[refcnt] ++; ¢ ,
if(allent >= MAX) allcnt = MAX - 1;

nalllallcnt]++;
if(delay >= MAX) delay = MAX - 1;
if(reffile) {ndelay[delay]++; nd++;}}}
ave /= n; var = var / n - ave * ave;
avea /= n; vara = vara / n - avea * avea;
avel /= nlength; varl = varl / nlength - avel * avel;
printf("\ntree form : tree count = %d", n);

printf("\nnumber of child : ave = %6.3f, var = %6.3f", ave, var) ;
printf("\nsize of tree(ts): ave = %6.3f, var = %6.3f", avea, vara);
printf("\nlength for ts>0 : ave = %6.3f, var = %6.3f", avel, varl);

printf("\n\nhistogram : total Data Count = Ad\n", n);

printf("\n N refcnt allcnt delay\n");
printf(” = - ./.C - ./.C s '/.c\nll’ 7'/.), )'/.), ,'/.));
for(i = 0; i < MAX; i++) if(nref[i]) kmax = i;
for(i = 0; i < MAX; i++) if (ndelay[i]) dmax = i;
for(i = 0; i < MAX; i++){
if((i > kmax) && (i > dmax)) break;
pref = 100.0 * nref[i] / n;

pall = 100.0 * nall[i] / n;
pdelay = 100.0 * ndelay[i] / nd;
printf(”%3d%5d%6.21f%5d%6.2lf%5d%6.21f\n”,
i, nref[i], pref, nall[i], pall, ndelay[i], pdelay);
pobs[i] = pref / 100;
nref2[i] = nref[i];}
delayx(ndelay, dmax, pweek);
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estpoi(nest2, nref2, kmax);}

void nbdcalc(){ /* estimate as negative binomial distribution */
FILE *fpp, *fp;
int i, n, k;
double ave, var, alpha, theta, fact_k, x, y, x0, yO, d;
double avel, varl, ave2, var2;
for(i = ave = n = 0; i < MAX; i++){
ave += nref[i] * i;
n += nref[i];}
ave /= n;
for(i = var = 0; i < MAX; i++) var += nref[i] * (i - ave) * (i - ave);
var /= n;
printf("\nrefcnt analysis : ave = }1f, var = }1f\n", ave, var);
theta = ave / (var - ave);
alpha ave * theta;

if(fp = fopen("simpara.dat","w")){
fprintf(fp, "hf\n", lambda);
fprintf(fp, "#f\n", alpha);
fprintf(fp, "4f\n", theta);
fclose(fp);?
else printf("\n*** error *¥* : file \"simpara.dat\" cannot open'");

avel = ave2 = lambda * theta /( theta - alpha);
varl = lambda * theta * (theta * theta + alpha) /
((theta - alpha) * (theta - alpha) * (theta + alpha));
var2 = lambda * theta * (alpha * g2 + theta * theta) /
((theta * theta - alpha * alpha * q2) * (theta - alpha));

printf("estimated : alpha = }f, theta = %f\n", alpha, theta);
printf (" lambda = %f, Q72 = %f\n", lambda, q2);

printf("estimated : avel = %f, varl = %f, sd = %f, sd/ave = %f\n",
avel, varil, sqrt(varl), sqrt(varl) / avel);
printf("estimated : ave2 = 4f, var2 = }f, sd = f, sd/ave = }f\n",
ave2, var2, sqrt(var2), sqrt(var2) / avel);
printf("\nestimated distribution\n\n k : neg.bin., observed, poison\n");

for(k = 0; k < kmax; k++){
for(i = fact_k = 1; i <= k; i++) fact_k *= 1i;
pest[k] = (gamma_ratio(alpha, k) / fact_k) *
pow((1 + theta)/theta, -alpha - k) / power(theta, k);
nest[k] = pest[k] * ndat;
printf("%5d : %6.21f, %6.21f, %6.2f\n",
k, pest[k] * 100., pobs[k] * 100., pest2[k] * 100.);}
fpp = plots('"follow.obj", -20, =20, 520, 700);
x0 = 1.5; y0O = 1.5;
width(fpp, 1.0);
for(y = yO + 20.0, d = 0.8; y >= y0 - 0.1; y -= 2.5, d -= 0.1){
psputd(fpp, x0 + 0.3, y-0.15, 0., 14, ’r’, "%4.1f", d);}
plot(fpp; X0 + 0.5, 70 ‘“w20.eb 07}
for(y = yO + 20.0; y >= y0 + 2.4; y -= 2.5){
plot(fpp, %0, y, 1);
plot(fpp; x0;, ¥ = 2.5, )%
plot(fpp, x0+ 0.5, y - 2.5, 1);}
plot(fpp, x0+ 0.5, y, 0);
plot(fpp, x0, yO, 0);
for(x = x0 + 1.0; x <= 17.1; x += 2.0){
plot(fpp, x, yO, 1);
plot(fpp, x, yO + 0.5, 1);
plot (£pp V%5550 ,« 1I5¥
for(x = x0 + 1.0, i = 0; x <= 17.1; x += 2.0, i++){
psputi(fpp, x+0.05, y0-0.7, 0., 14, ’¢c’, i);}
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psputs(fpp, x0 + 5.0, yO - 1

psputs(fpp, x0 - 1.2, yO + 8.

width(fpp, 0.0); '

for(i = 0; i < ((kmax <= 8) ? kmax
x=x0+ (i + 0.5) % 2.0;
y = yO + pobs[i] * 25.0;
plot(fpp, x, y, i);}

plot(fpp, x, y, 0);

width(fpp, 1.0);

for(i = 0; i < ((kmax <= 8) ? kmax
x =x0+ (1 + 0.5) % 2.0;
y = yO + pobs[i] * 25.0;
plot(fpp, x, y, 0);
symbol(fpp, 0.3, 3);}

width(fpp, 0.0);

for(i = 0; 1 < ((kmax <= 8) ? kmax :

x=x0+ (i + 0.5) % 2.0;
y = yO + pest[i] * 25.0;
plot(fpp, x, y, i);}
plot(fpp, x, y, 0);
width(fpp, 1.0);
for(i = 0; i < ((kmax <= 8) ? kmax
x =x0+ (1 + 0.5) % 2.0;
y = yO + pest[i] * 25.0;
plot(fpp, x, y, 0);
symbol(fpp, 0.3, 2);}
width(fpp, 0.0);
for(i = 0; i < ((kmax <= 8) ? kmax
x=x0+ (1 + 0.5) % 2.0;
y = yO + pest2[i] * 25.0
plot(fpp, x, y, 1);}
plot(fpp, x, y, 0);
width(fpp, 1.0);
for(i = 0; i < ((kmax <= 8) ? kmax
x=x0+ (i + 0.5) % 2.0;
y = yO + pest2[i] * 25.0;
plot(fpp, x, y, 0);
symbol (fpp, 0.3, 1);}
x0 = 8.0; yO = 14.0;
width(fpp, 1.0);
plot(fpp, x0, yO, 0);
plot(fpp, x0 + 8.0, yO, 1);
plot(£fpp7%0° + 805 y0 + 3.0, 19%
plot(fpp, x0, yO + 3.0, 1);
plot(fpp, x0, yO, 1);
width(fpp, 0.0);
plot(fpp, x0 + 0.5, yO + 2.
plot(fppiaxln* 1u6; y0 25, 1)5
width(fpp, 1.0);
plot{(£ppiex08s 1805.y0 S22 53L 0)5
symbol(fpp, 0.3, 3);

b

18, '"number of follows'");
18, "probability density");
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psputs(fpp, x0 + 1.6, yO + 2.3, 0., 18, ": observed");

width(fpp, 0.0);

plot(fpp, x0 + 0.5, yO + 1.5, 0);
plot(fpp, x0 + 1.5, yO + 1.5, 1);
width(fpp, 1.0);

plot(fpp, %0 . #:1,05y0: +, 105,230);
symbol(fpp, 0.3, 2);

psputs(fpp, x0 + 1.6, y0 + 1.3, 0., 18, ": negative binominal");

width(fpp, 0.0);



plot(fpp, x0 + 0.5, yO + 0.5, 0);
plot(fpp, x0 + 1.5, yO + 0.5, 1);
width(fpp, 1.0); ’
plot{fpp, x0 + 1.0, §O +'0.5,%0);
symbol(fpp, 0.3, 1);
psputs(fpp, x0 + 1.6, yO + 0.3, 0., 18, ": Poisson distribution");
plote(fpp) ;¥
double ksstat(int n, int kmax, int obs[], double est[]){
double D20, D10, DO5, DOi;
double f[MAX], s[MAX], sumobs, sumest, d, dd, sqn;
int i;
if (kmax < 1){
printf("error ksstat: kmax = Yd < 1\n", kmax);

exit(3);}
sqn = sqrt((double) kmax);
D20 = 1.07 / sqn;
D10 = 1.22 / sqn;
DOS = 1.36 / sqn;
DO1 = 1.63 / sqn;

printf("\nKolmogonov-Smirnov statistic test\n");
printf("kmax = }6d\n", kmax);
printf("D20 = %6.21f, D10 = %6.21f, DO5 = Y6.21f, DOl = %6.21f\n",
D20, D10, D05, DO1);

for(i = 1; i < kmax; i++){

obs[i] += obs[i - 1];

est[i] +='est[i - 1];}
sumobs = obs[kmax - 1]; sumest = est[kmax - 1];
for(d = i = 0; i < kmax; i++){

s[i] = obs[i] / sumobs;

f[i] = est[i] / sumest;

dd = £[i] - s[i]; if(dd < 0) dd = -dd;

if(dd > d) d = dd;?}
printf("\n ksstat : d = %1f\n", d);
if(d > DO1) return 0.01L;
if(d > DO5) return 0.05L;
if(d > D10) return 0.10L;
if(d > D20) return 0.20L;
return 1.00L;}

double chisqtst(int n, int k, int obs[], double est[]){
double chisq0_99[30] = {0.000157, 0.0201, 0.115, 0.297, 0.554,
0.872, 1.239, 1.646, 2.088, 2.558,
3.053, 3.571, 4.107, 4.660, 5.229,
5.812, 6.408, 7.015, 7.633, 8.260,
8.897, 9.542, 10.196, 10.856, 11.524,
12.198, 12.879, 16.565, 14.256, 14.953};
{0.00393, 0.103, 0.352, 0.711, 1.145,
1.635, 2:167,. 2:1033, ..3-325;" . 3.940:
4.575, §5.226, 5.892, 6.571, T7.261,
7.962, 8.672, 9.390, 10.117, 10.851,
11.591, 12.338, 13.091, 13.848, 14.611,
15.397, 16.151, 16.928, 17.708, 18.493};
{0.0158, 0.211, 0.584, 1.064, 1,610,
2.204, 2.833, 3.490, 4.168, 4.865,
5.578, 6.304, 7.042, 7.790, 8.547,
9.312, 10.085, 10.865, 11.651, 12.443,
13.240, 14.042, 14.848, 15.659, 16.473,
17.292, 18.114, 18.939, 19.768, 20.599%};
double Chisq0_5[30] = {3.841, 5.991, 7.815, 9.488, 11.070,
12.592, 14.067, 15.507, 16.919, 18.307,
19.675, 21.026, 22.362, 23.685, 24.996,
26.296, 27.587, 28.869, 30.144, 31.410,
32.671, 33.924, 35.172, 36.415, 37.652,
38.885, 40.113, 41.337, 42.557, 43.773};

double chisq0_95[30]

double chisq0_90[30]
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double chisq0_1[30] = {6.635, 9.210, 11.341, 13.277, 15.086,

16.812, 18.475, 20.090, 21.666, 23.209,
2472515267217 ;927.6885°29: 141, °30,578;
32.000, 33.409, 34.805, 36.191, 37.566,

double chisq, chisqg99,
int i, j§
if(n < 30){

38.932, 40.289, 41.638, 42.980, 44.314,
45.642, 46.963, 48.278, 49.588, 50.892};

chisg95, chisqg5, chisql;

chisq99 = chisq0_99[n];
chisq956 = chisq0_95[n];

chisq5 = chisq0_5[n];
= .}

0.5 * pow(sqrt((double)(2 * n - 2)) - 2.32635, 2);

O 5 * pow(sqrt((double)(2 * n - 2)) - 1.64485, 2);
* pow(sqrt((double) (2 * n - 2)) + 1.64485, 2);

5 * pow(sqrt((double)(2 * n - 2)) + 2.32635, 2);}

hd, k = %d\n", n, k);

chisql = chisq0_1[n]

elseq
chisq99
chisq95
chisgb =
chisql =

printf(”\nchi square test : n =
printf("\n k : nobs
for(i = 0; i < k; i++){

printf("%6d %54 47.11f\n", i, obs[i], est[i]);}

nest\n");

if(k >= 30) printf("err chisqtst, k >=30");

for(i = chisq = 0; i < k; i++){
chisq += power(obs[i] - est[i],

2) / estlil;}

printf("\n
if(chisq < chisq0_99[k

else if(chisq < chisqO_
else if(chisq < chisqO_
else if(chisq < chisqO_
else if(chisq < chisqO_

else return 0.0;}

void main(int argc, char
setstat(argc, argv);
nbdcalc();

prlntf(“\ndlstrlbutlon of article strength assumed\n');

chi square = %1f\n", chisq);

-2]) return 0.99;

95[k - 2]) return 0.95;
90[k - 2]) return 0.90;
5[k - 2]) return 0.05;
ik - 2]) return 0.01;

*argVE]){

chisqtst(ndat, kmax - 2, nref, nest);

printf ("\nconstant strength of article assumed\n");

chisqtst(ndat, kmax - 2, nref2, nest2);
ksstat(ndat, kmax, nref, nest);}

B5. >3alL—

TrEEAHDL I2v—sav7uZS56Th5,

#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <malloc.h>
#include "psplot.h"

#define KMAX 1000
#define DMAX 240
#define AMAX 32000

int days = DMAX;

int nnew[DMAX], nboth[DMAX], pday =
int rent[AMAX], acnt[AMAX],

int astart = DMAX, aend;
double pdelay[DMAX],

- a=C s WA

240, ndelay;

pweek[7];
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double potnew = 3, alpha = 1, theta = 1.7, rih = 0;
struct stack {int day; double pot; int pairent;
int delay; struct stack * next;};
struct stack * top = NULL;
int iout = 0;
FILE *fout;
void kgraph(FILE * fpp, int mind, int maxd, int dd, int n,
int dn, double x0, double yO, double wx, double wy,
int d0, int di){
double x, y;
int 1, d;
width(fpp, 1.0);
plot(fpp, x0, yO, 0);
plot(fpp, %0 + wx, yO0, 1);
plot(£pp. <x0 =kmx, [yO Wy, 1);
plot(fpp, x0, yO + wy, 1);
plot{fpp, %0, :y0; 1)
plotfpp, X0 Y0, 0J;
for(i = mind; i < maxd; i += dd){
y = y0 + wy * (i - (double)mind) / (maxd - (double)mind);
plot(fpp, %0, y, 0);
plot(fpp, x0 + 0.2, y, 1);
plot(fpp, x0 + 0.2, y, 0);}
for(i = mind; i < maxd + dd / 2; i += dd){
y = y0 + wy x (i - (double)mind) / (maxd - (double)mind);
psputi(fpp, x0 - 0.1, y - Ost4:0. /cl0,I ¥ & pildipk
for(i = 0; i <= n; i += dn){
x = x0 + wx * i / (double)n;
plot(fpp, x, yO, 0);
plot(fpp, x, yO + 0.2, 1);
plot(fpp, x, yO + 0.2, 0);}
for(i = 0; i <= n; i += dn){
¥ = x0 + wx * 1 / (double)n;
d=d0 + i % (d1 - d0) / n;
psputi(fpp, x + 0.2, yO - 0.35, 0., 10, ’c’, d);}}

void igraph(FILE #* fpp,int * dat, int * dend, int mind, int maxd, double dy,
int n, double x0, double yO, double wx, double wy, double wl){
double x, y;
int i;
width(fpp, wl);
for(i = 0; (i < n) && (dat < dend); i++, dat++){
y = yO + wy * (xdat - (double)mind) / (maxd - (double)mind);
if(y < y0O) y = yO; else if(y > yO + wy) y = yO + wy;
x =x0 +wx x (1 + 0.5) / n;
plot(fpp, x, y, i);}
plot(fpp, x, y, 0);}
void push(int day, double pot, int pairent, int delay){
struct stack *add, *cur;
add = (struct stack *)malloc(sizeof (struct stack));
add->day = day; add->pot = pot;
add->pairent = pairent; add->delay = delay;
if(!top){top = add; add->next = NULL;}
elseq{
if (top->day > day){
add->next = top; top = add;}
elseq
for(cur = top;
(cur->next) && (cur->next->day <= day);
cur = cur->next);
add->next = cur->next; cur->next = add;}}}
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int pop(double *ppot, int *pairent, int *delay){
/* pop pot and return day or -1 (queue null) */
struct stack *cur;
if(top == NULL) return -1;
cur = top;
top = cur->next;
*ppot = cur->pot; *pairent = cur->pairent; *delay = cur->delay;
return cur->day;}

int poirnd(double p){/* calculate poison’s rundum number */
double sum, x, u;
int k;
u = rand() / (double)RAND_MAX;
for(sum = k = 0, x = 1.0 / exp(p); k < KMAX; k++){
if(k) x *=p / k;
if((sum += x) > u) break;}
return k;}

double grandi(double alpha, double theta){
/* generate Gamma randum for a < 1 by Ahrens & Dieter 1974 %/
double e, u0, ul, p;
e = exp((double)i);
forlrid
u0 = (double)rand() / (double)RAND_MAX;
ul = (double)rand() / (double)RAND_MAX;
if(u0 <= (e / (alpha + e))){
p = pow((alpha + e) * u0 / e, 1 / alpha);
if(ul <= exp(-p)) return p / theta;}
else{
p = -log((alpha + e) * (1 - u0) / (alpha * e));
if(ul <= pow(p, alpha - 1)) return p / theta;}}}

double grand2(double alpha, double theta){

/* generate Gamma randum for alpha > 1 by Cheng & Feaaat 1979 */
double c1, c2, c3, c4, c5, ul, u2; w;

cl = alpha -1;
c2 = (alpha - 1 / (6 * alpha)) / ci;
c3 =2/ ci; .
cd = c3 + 2;
c5 = 1 / sqrt(alpha);
for(;;){
do{
ul = (double)rand() / (double)RAND_MAX;
u2 = (double)rand() / (double)RAND_MAX;

if(alpha > 2.5) ul = u2 + c5 * (1 - 1.86 * ul);
} while ((uil <= 0) || (ul >= 1));
w=c2 % u2 / ui;
if((c3 * ul + w + 1 / w) <= c4) return cl * w / theta;
if((c3 * log(ul) - log(w) + w) < 1) return ci * w / theta;}}
double newpot(){
double r;
int i, a;
if (alpha <= 1) return grandi(alpha, theta);
else return grand2(alpha, theta);}

double potset(double pot){/* calculate potential */
return(rih * pot + (1 - rih) * newpot());}
#define LINE 256

void varinit(char *file){
FILE *fp;
int i;
char buf[LINE];
double sum;
if((fp = fopen(file, "r")) == NULL){
fprintf(stderr, "error: file Ys cannot open.", file);
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exit(3);}

for(i = 0; (fgets(buf, LINE, fp)) && (i < 7); i++){

sscanf (buf, "}1f", &pweek[i]);}
if(1 < 7) for(i = 0; i < 7; i++) pweek[i] = 1.0/7.0;
for(sum = i = 0; 1 < 7; i++) sum += pweek[i];
if(sum <= 0.0) for(i = 0; i < 7; i++) pweek[i] = 1.0/7.0;
else for(i = 0; 1 < 7; i++) pweek[i] /= sum;
for(i = 0; i\% Tpditt) sprintef M iwlblidl = Jf\n" ;-1 pweek[i]);

for(ndelay = 0; (fgets(buf, LINE, fp)) && (ndelay < DMAX); ndelay++){
sscanf (buf, "41f", &pdelay[ndelay]);}
for(i = 1; i < ndelay; i++) pdelay[i] += pdelay[i - 1];
for(i = 0; i < ndelay; i++) pdelay[i] /= pdelay[ndelay - 1];}
int dlyset(int day){/* calculate delay */
double u;
int 1, j;
do{
u = rand() / (double)RAND_MAX;
for(i = 0; (u > pdelay[i]) && (i < ndelay); i++);
} while(pweek[(day + i) % 7] < rand() / (double)RAND_MAX);
return i;}

void post(int day, double pot){
int i, n, delay;
n = poirnd(pot);
for(i = 0; i < n; i++){
if((delay = dlyset(day)) < 0) delay = 0;
push(day + delay, potset(pot), ano, delay);}}
void postnew(int day){
int i, n;
double pot;
pot = newpot();
putchar(’-’);
fprintf(fout, "Ad %d %d %d\n", ano, day, 0, 0);
post(day, pot);
if (ano < AMAX){
rcnt[ano] = acnt[ano] = adly[ano] = 0;
aday[ano] = day, part[ano] = -1;
if(day < astart) astart = day;
if(day > aend) aend = day;}
ano++;
if(day < pday){
nnew[day]++; nboth[day]++;3}}
void postfol(int day){
double pot;
int dday, pairent, delay, pno;
while((dday = pop(&pot, &pairent, &delay)) >= 0){
if(dday > day){
push(dday, pot, pairent, delay);
return;}
putchar(’+’);
post(day, pot);
fprintf(fout, "%d %d %d %4d\n", ano, day, pairent, delay);
if(ano < AMAX){
rcnt[ano] acnt[ano] = 0;
part[ano] = pairent; adly[ano] = delay;
aday[ano] = day;
if(day < astart) astart = day;
if(day > aend) aend = day;}
if ((pairent >= 0) && (pairent < AMAX)){
rcnt[pairent]++;
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for(pno = pairent; pno >= 0; pno = part[pnol) acnt[pnol++;}
ano++;
if(day < pday) nboth[day]l++;}}
void stat(){
double aven, varn, avef, varf, aveb, varb, avec, varc;
double avea, vara, avel, varl;
double avenw[7], varnw[7], avefw[7], varfw[7], avebw[7], varbw[7], length;
int day, a, n, nfol, nw[7], iw, nlength;
printf("\nstat start");
for(iw = 0; iw < 7; iw++){
avenw[iw] = varnwliw] = avefw[iw] = varfw[iw] = avebw[iw] = varbwl[iw] = 0;
nwliw] = 0;}
aven = varn = avef = varf = aveb = varb = n = 0;
for(day = astart + 7; day < aend - 7; day++){
iw = day % 7; nw[iw]++; n++; nfol = nboth[day] - nnew[day];
aven += nnew[day]; varn += (double)nnew[day] * nnew[day];
avef += nfol; varf += (double)nfol * nfol;
aveb += nboth[day]l; varb += (double)nboth[day] * nboth[day];
avenw[iw] += nnew[day]; varnw[iw] += (double)nnew[day] * nnew[day];
avefw[iw] += nfol; varfw[iw] += (double)nfol * nfol;
avebw[iw] += nboth[day]l; varbw[iw] += (double)nboth[day] * nboth[day] ;}

if(n >0){
aven /= n; avef /= n; aveb /= n;
varn = varn / n - aven * aven;
varf = varf / n - avef * avef;
varb = varb / n - aveb * aveb;}
else printf("\nerror n = 0!'\n");
for(iw = 0; iw < 7; iw++){
if(nwliw] >
avenw[iw] /= nwliw]; avefw[iw] /= nw[iw]; avebw[iw] /= nwliw];
varnw[iw] = varnw[iw] / nw[liw] - avenw[iw] * avenw[iw];
varfwliw] = varfw[iw] / nw[iw] - avefw[iw] * avefw[iw];
varbw[iw] = varbw[iw] / nw[iw] - avebw[iw] * avebw[iw];}
else("\nerror nw[%d] = 0!'\n", iw);}
printf("\n daily statistics : start = %4d, end = %4d", astart + 8, aend - 8);
printf("\n new post / day : ave = %6.2f, var = %6.2f,", aven, varn);
printf(" sd = %6.2f, ratio = 6.3f", sqrt(varn), sqrt(varn)/aven);
printf("\n follow / day : ave = %6.2f, var = %6.2f,", avef, varf) ;
printf(" sd = %6.2f, ratio = %6.3f", sqrt(varf), sqrt(varf)/avef);
printf("\n total / day : ave = %6.2f, var = Y6.2f,", aveb, varb);
printf(" sd = %6.2f, ratio = %6.3f\n\n", sqrt(varb), sqrt(varb)/aveb);
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printf('day +----- new post/day ------ F)i 5
prigtii(+-———- fol post/day ------ gl
printf(Me=-——r all post/day ------ #\n") ;
printf (" ave var s.d. sd/ave");
printf (" ave var s.d. sd/ave");
printf (" ave var s.d. sd/ave\n");

for(iw = 0; iw < 7; iw++){
if (avebw[iw]<= 0) continue;
printf("%3d %6.2f %6.2f %6.2f %6.3f", iw, avenw[iw], varnw[iw],
sqrt(varnwliw]), sqrt(varnw[iw]) / avenw[iw]);
printf(" %6.2f 6.2f %6.2f %6.3f", avefw[iw], varfw[iw],
sqrt(varfwliw]), sqrt(varfwliw]) / avefw[iw]);
printf(" %6.2f %6.2f %6.2f %6.3f\n", avebw[iw], varbw[iw],
sqrt(varbw[iw]), sqrt(varbw[iw]) / avebw[iw]);?}
for(avec = varc = avea = vara = avel = varl = a = n = nlength = 0;
(a < ano) && (a < AMAX); a++){
if((aday[a] > astart + 7) &&(aday[a] < aend - 7)){
n#++;
avec += rcntl[a]; varc += (double)rcnt[a] * rcntl[a]:
avea += acnt[al]; vara += (double)acnt[a] * acnt[a];
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if (rent[al){
nlength++; length = (double)acnt[a] / (double) rcnt[a];

avel += length; varl += length * length;}}}
avec /= n; varc = varc / n - avec * avec;
avea /= n; vara = vara / n - avea * avea;
avel /= nlength; varl = varl / nlength - avel * avel;
printf("\ntree form : tree count = %d", n);

printf ("\nnumber of child : ave = %6.3f, var = }%6.3f", avec, varc);
printf("\nsize of tree(ts): ave = %6.3f, var = %6.3f", avea, vara);
printf("\nlength for ts>0 : ave = 6.3f, var = 6.3f\n", avel, varl);}

main(int argc, char * argv[]){
int day, nnewp, i;
double dummy;
double x0, yO;
FILE *fpp, *Ip;
static char file[256] = "simvars.dat";
if (fp = fopen("simpara.dat","r")){
fscanf (fp, "4lf\n", &potnew);
fscanf (fp, "%1f\n", &alpha);
fscanf (fp, "41f\n", &theta);
fclose(fp);}
if(arge <= 1){
printf("usage : sim days potnew alpha theta rih\n");
prant (" no arguments, default value used.\n\n");}
if (argc > 1) sscanf(argv[1], "%d", &days);

if(argc > 2) sscanf(argv([2], "/1f", &potnew);
if (argc > 3) sscanf(argv[3], "%1f", &alpha);

if (argc > 4) sscanf(argv[4], "41f", &theta);

if (argc > 5) sscanf(argv[5], "/1f", &rih);

if (argc > 6) sscanf(argv[6], "#s", file);
printf("days = %d, potnew = 4f, alpha = %f, theta = %f, rih = %f\n",
days, potnew, alpha, theta, rih);
if (days < DMAX) pday = days; else pday = DMAX;
varinit(file); ’
fout = fopen("sim.out", "w");
for(day = 0; day < days; day++){
printf("\n day = %4d : ", day);
nnewp = poirnd(potnew * 7.0 * pweek[day % 71);
for(i = 0; i < nnewp; i++) postnew(day);
postfol(day);}
printf("\n");
stat();
fpp = plots("simres.obj", -20, -20, 520, 700);
x0 = 3

for(day = 0, yO = 1.5; (day < pday) && (yO < 18.0);
day += 80, yO += 8.0){
kgraph(fpp, O, 35, 5, 80, 5, x0, yO, 16.0, 7.0, day, day + 80);
psputs(fpp, x0 + 6.5, yO - 0.8, 0, 14, "d a t e");
psputs(fpp, x0 - 0.7, yO + 2.0, 90., 14, "articles / day");
igraph(fpp, &nnew[day], &nnew[pday], 0, 35, 0.1,
80, x0, y0, 16.0, 7.0, 0.0);
igraph(fpp, &nboth[day], &nboth[pday], 0, 35, 0.1,
80, x0, yo, 16.0, 7.0, 1.0);}
plote(fpp);}
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stat /home/seo/news/$1.ref >$1.sta
mv daily.obj day$1.obj

mv delay.obj dly$i.obj

mv follow.obj fol$l.obj

sim >$1.1st

mv simres.obj sim$l.obj

mv simvars.dat var$i.dat

mv simpara.dat par$il.dat
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#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#include "psplot.h"
double grandi(double alpha, double theta){
/* generate Gamma randum for a < 1 by Ahrens & Dieter 1974 x/
double e, u0, ul, p;
e = exp((double)l);
for ;)1
u0 = (double)rand() / (double)RAND_MAX;
ul = (double)rand() / (double)RAND_MAX;
if(u0 <= (e / (alpha + e))){
p = pow((alpha + e) * w0 / e, 1 / alpha);
if(ul <= exp(-p)) return p / theta;}
elseq
p = -log((alpha + e) * (1 - u0) / (alpha * e));
if(ul <= pow(p, alpha - 1)) return p / theta;}}}
double grand2(double alpha, double theta){

/* generate Gamma randum for alpha > 1 by Cheng & Feaaat 1979 #*/
double c1, c2, c3, c4, ¢5, ul,.u2, w;

cl = alpha -1;
c2 = (alpha - 1 / (6 * alpha)) / ci;
c3 =2/ ci;
c4 = c3 + 2;
c5 = 1 / sqrt(alpha);
for(;s){
do{
ul = (double)rand() / (double)RAND_MAX;
u2 = (double)rand() / (double)RAND_MAX;

if(alpha > 2.5) ul = u2 + c5 * (1 - 1.86 * ul);
} while ((uil <= 0) || (ul >= 1));
Ww=c2*u2 / ul;
if((c3 *x ul + w + 1 / w) <= c4) return cl * w / theta;
if((c3 * log(ul) - log(w) + w) < 1) return cl * w / theta;}}
#define N 1000000
#define NH 25
#define MAXP 2.5
#define HMAX (2 * N * MAXP / NH)
main(int argc, char *argv[]){
char name[256] ;
int de, ups
long i, k, hist[NH], hmax;
double p, alpha, theta;
double x, y, x0, yO, xp, yp, pd[NH], haba;
double x1, yl, xx, yy, xxl, yyl, xc, yc, xcl, ycl;
FILE *fp;
if(arge < 3){
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fprintf(stderr, "usage : gamma alpha theta ...\n");
exit(3);}

fp = plots("pot.obj", -20, -20, 500, 700);
x0 = 1.5; yO = 2.5;
plot(fp, 0.5+x0, 20.0+y0, 0);
for(i = 20; 1 > 0; 1 -= 4){
plot(fp, %0, i + y0O, 1);
plot{fp, x0, 1 - 4.0 + y0, 1);
plot(fp, x0+0.5, i - 4.0 + yOo, 1);}
for(i = 3; i <= 15; i += 3){
plot(fp, x0 + i, yO, 1);
plot(fp, x0 + i, y0 # 0.5, 1);
ploE(£p ,#x0 +Ciehyos™ 1) i}
for(i = 0; 1 <= 20; i += 4){
pspurd(fp, x0 +:~.2, yO 2%">0.2, 0.0, 14, 71!, W.2f",
(double). /s 16.0);}
for(i = 3; 1 <= 15; i += 3){
psputd(fp, x0 # 1 - 0.25, y0 = 0.5, 0., 14, %¢?, "dofu)
(double)i * 2.5 / 15.0);}
psputs(fp, x0 + 5.0, y0O - 1.3, 0., 18, "Number of follows");
paputsi{fp, x0 ~ 1.5, $0 + 7.0, 90:, 18, "probability density");
plot(fp, x0 + 15, y0, 0);
xp = 156.0 / NH;
yp = 16.0;
for(ic = 1; ic <argc; ic += 3){
sscanf (argv[ic], "%1f", &alpha);
sscanf (argv[ic + 1], "}1f", &theta);
sscanf (argv[ic + 2], "%256s", name);
printf("\nalpha = /f, theta = %f\n", alpha, theta);
for(i = 0; 1 < NH; i++) hist[i] = 0;
for(i = 0; i < N; i++){
if(alpha <= 1) p = grandi(alpha, theta);
else p = grand2(alpha, theta);
k = p * NH / MAXP; .
if((k >= 0) && (k < NH)) hist[k]++;}
for(i = 0; 1 < NH; i++) pd[i] = (double)hist[i] * NH / (MAXP * N);
for(xl = y1l =up =i =0; i < NH; i++){
x = (1 + 0.5) * xp + x0;
y = pdlil * yp + yO;
plot(fp, x, y, i71:0);
if (tup){
yy = x + y0 - x0 + 6.0 - 0.3 * ic;
if((y1 > yyl) && (y <= yy)) up = i;
elseq
vyl =1y; yyl = yy;}}}
plotilEp;,, % ¥, O);
x = (up + 0.5) * xp + x0;
x1 = (up - 0.5) * xp + x0;
y = pdlup] * yp + yO;

yl = pdlup - 1] * yp + yO;
xc = (x - x1) x (yyl - y1) / (y - y1 - yy + yyl) + x1;
yc = xc + y0 - xO0 + 6.0 - 0.3 * ic;

xcl = x0 + 7.0;

ycl = xc1 + yO - x0 + 6.0 - 0.3 * ic;

plot(fp, xc, yc, 0);

plot(fp, xcl, ycl, 1);

plot(fp, xcl + 0.23 * strlen(name), ycl, 1);

psputs(fp, xcl + 0.1, ycl + 0.2, 0., 12, name);}
plote(fp);}
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